Code # D

TEST PAPER
RE-AIPMT-2015

Date-25.07.2015 Max. Marks : 720
Please read the instructions carefully. You are allotted P 39 el 1 wam | 9| ! 5 fAee ANy wu
5 minutes specifically for this purpose. A U BHE B v A W E)

1. Immediately fil the particulars on this page of the Test | 1 ey gﬁ\—-ﬁm B 39 US W A@ITFH fqaro] it/ Bt qfel

Booklet with Blue / Black Ball Point Pen. Use of pencil is : _ Y
strictly prohbited. wWigT U9 ¥ Tw@bid R | A w1 9 [Qemd afia 2

2.The Answer Sheet is kept inside this Test Booklet. When | 2. 3gv g3 39 e yRd®HT & 77eR I/IT = | 99 3ATAH] uden

you are directed to open the Test Booklet, take out the . .
Answer Sheet and fil in the particulars carefully. gﬁam ISR _Eb_i” S d@ o IWud fwe @R
AEaeryd e fqaRor R |

3.Thetest is of 3 hours duration. 3. gden $) 79y 3 £ 2

4.The Test Booklet consists of 180 questions. The maximum | 4 gg yQen E{ﬁ-ﬁiﬁl 9 180 U39 2| A HIH 3w 720 2 |
marks are 720.
5.There are three parts in the question paper A, B, C | 5. 39 gle&l gﬁaaﬂ 7 fig wrm A, B, C 2| s gds wrr |

consisting of Chemistry (45), Physics (45) and Biology ;
(90) questions. Each question is allotted 4 (four) marks for e famm (45), ﬁﬁzﬁ ﬁg{ﬁ (45), w@ <fia far (90)
correct response. ged 2 R w) el @ ofd WA B UAS YW & el
SW @ fIv 4 @R) 35 [uiRa 53 1 7|

6.Candidates will be awarded marks as stated above in | g, apgiRigl &1 Udd 9 ST & I Sudad A<= G 5

Instructions No. 5 for correct response of each question. % : _
[one fourth (-1)] marks wil be deducted for indicating @ ﬁ'q‘%ﬂ_f[}ﬂ‘\’ RS 33 S | g ¥ B T SW ?ﬁ
incorrect response of each question. No deduction from the fad v am (1) s faar SR afy SR gRaser §
total score will be made if no response is indicated for an frd ged @1 SR AE] faar v 8 @1 g gTwie | @Iy
item in the answer sheet. w78 5 SR

7.There is only one comect response for each question. Filing | 7 yQl® usd &1 dacl s & T8 SR 2| Uh 4 3e$H IR
up more than one response in any question will be treated Y W 99 AT SR AT 9R e SWEd Ty 6 @
as wrong response and marks for wrong response will be . !
deducted accordingly as per instructions 6 above. IAR 3H Pre fad snaa |
Filling the Top-half of the OMR : FITANY (OMR) & Hut-a1d A &1 9@ :

Use only Blue/Black ball point pen only for filling the a “
OMR. Do not use Gel / Ink / Felt pen as it might smudge OMR 31 w¥1 & fay aa Hit/Frt 4@ ¥ o1 swam

the OMR. P
8. Write your Roll no. in the boxes given at the top leftcomer of | g. OMR & ¥ FW A w19 A U MY dfad § U1 Ul

your OMR with blue/black ball point pen. Also, darken the o ;
corresponding bubbles with Blue/Black ball point pen only. TR A/ e mge W fafey g wwa we o

Also fill your roll no on the back side of your OMR in the A/ /o1 97 9 9RA| OMR & @8 @ ave A Jwr e
space provided (ifthe OMR is both side printed). Trg¥ fafeg (afd OMR gF1 avw s g3 21).
9. Fill your Paper Code as mentioned on the Test Paper and | 9. OMR 4¥ aus UwR ®ie RIRET qur G7d Mal &1 Al /BTa

darken the corresponding bubble with Blue/Black ball point gfe 9 R Bre HIR |
pen.

10. If student does not fill his/her roll no. and paper code | 19 ¥ fQeneff 29 VA F9I RMT IR HIs IJal AR ST

giosrpr)elzac)tllgd and properly, then his/her marks wil not be a9 T wRAT € 99 SOFT IR AP AT S|

11.Since it is not possible to erase and comect pen filed | 41, Tfn U9 @ R U T Aedn &R JIRAT [T 8] 2

bubble, you are advised to_ be extremely careful while TRIT &g g gde auR Sux @ el B R |
darken the bubble corresponding to your answer. h

12.Neither try to erase / rub / scratch the option nor make the | 12.fdw@ & 9 MW ,/A @7 I AR T & TaAd (X) fag &7

Cross (X) mark on the option once filled. Do not scribble, W | OMR BT ®12 9 & 1S 4 & 7ea1 98 o a9 &g N
smudge, cut, tear, or wrinkle the OMR. Do not put any stray . .
marks or whitener anywhere onthe OMR. fren= a1 wHel OMR W & &Y |

13.1f there is any discrepancy between the written data and the | 13, gfd OMR ¥ ) U & Ry T 3wl den T B ATHe
bubbled datain your O MR, the bubbled data will be taken as : -
final. A fRemw ® @ et By siewsT &1 & |8 A4 S|

DTarget PMT

EXCLUSIVELY FOR MEDICAL ENTRANCE

HEAD OFFICE

A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058 Phone : 011-41024601-05
E-mail : info@targetpmt.in  Website : www.targetpmt.in




Date-25/07/2015

RE-AIPMT-2015/Code #D

Choose the correct (V') answer:
1.

In his classic experiments on pea plants, Mendel did | 1.
not use

(1) Podlength (2) Seed shape I
(3) Flower position (4) Seed colour |
Which one of the following is not applicable to RNA? | 2.
(1) 5 phosphoryl and 3’ hydroxyl ends |
(2) Heterocyclic nitrogenous bases |
(3) Chargaff'srule |
(4) Complementary base pairing |
Male gametophyte in angiosperms produces: : 3.
(1) Single sperm and a vegetative cell |
(2) Single sperm and two vegetative cells |
(3) Three sperms |
(4) Two sperms and a vegetative cell |
Which of the following are not membrane-bound? |
(1) Ribosomes (2) Lysosomes I
(8) Mesosomes (4) Vacuoles |
The chitinous exoskeleton of arthropods is formed by | 5.
the polymerisation of: |
(1) D-glucosamine |
(2) N-acetyl glucosamine |
(3) lipoglycans |
(4) Kkeratin sulphate and chondroitin sulphate |
Among china rose, mustard, brinjal, potato, guava, | 6.
cucumber, onion and tulip, how many plants have |

superior ovary? |

4,

(1) facilitate communication between adjoining cells
by connecting the cytoplasm for rapid transfer of |
ions,small molecules and some large molecules. |

(2) separate two cells from each other |

(3) stop substance from leaking across a tissue |

(4) performing cementing to keep neighbouring cells |
together. |

Which of the following immunoglobulins does constitute I 8.

the largest percentage in human milk? |

(1 IgM (2) IgA |

|
|
|

(1) Six (2) Three |

(3) Four @) Five |

The function of the gap junction is to I 7.
|

@) IgG @) IgD

| W) SR BT T (V) B

HeX & ORI WR 37U Teel JANT ¥ Hed A fhd ST =g
fpar?

(1) el & TwTS (2) 95T BT MMHR
(3) gu @ Refa 4) 9 BT T
fAmfoRad # | ®19 a1 RNA ™ @ 981 grar
(1) 5 ®epRe iR 3’ egsifadd RR

() fyramE A 99

(3) TR e

(4) ARD T G

TSI gredl # R g 9T g 8 °

(1) TP BT IR U Bl DIRIBT

(2) TP Y1 R & HTIAD BIRTBRI

(3) T LAY

(4) <1 g1 SR Teh DIIAh DIfRADT
frfaRad & & 319 freel § 781 fiR &
(1) STz (2) g

(3) wegHE (HiH)  (4) Rt
SARATITST BT PIICI ITET DHebTct [heidh TgeIhIhRUl T 87
(1) D- @R &

(2) N-gifee @i &

(3) ferdrensadl &

(4) HfeT Aewe 3R Bi~gisfed Aobe &

3 fhdal & Sedqdf sverr 87

)
)
)
)

1) ®: 2) &=
@) IR (4) dr=
NI—S B BT B 2

(1) TSR BIRGRT & 919 FUYT § AGE B B o1y,
PIRTBIAT BT TS G & 7Y TP AR BIC A
3R B I 3] g T H TR 8 6D |

(2) < PIRTBIE BN TH—gER ¥ YIH & ofy |

(3) Al ucred & $dd & IR FdHa A A B fory

4) TSR BIERN B IRER s & B v |

frefeiRaa # & ®F g UReTAGfo AFa g H
qaY 31fere ufireradr # 9 ST &7

(1) IgM (2) 1gA

(3 lgG (4) 1gD
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9.

10.

1.

12.

13.

14.

15.

field, where:

(1) the optic nerve leaves the eye.

(2) only rods are present.

(3) more rods than cones are found.

(4) high density of cones occur, but has no rods. |

Doctors use stethoscope to hear the sounds produced | 10.

during each cardiac cycle. The second sound is heard

when: |

(1) Ventricular walls vibrate due to gushing in of blood |
from atria |

(2) Semilunar valves close down after the blood flows |
into vesels from ventricles |

(38) AV node receives signal from SA node

(4) AVvalvesopenup

Coconut water from a tender coconut is:

(1) Free nuclear endosperm

(2) Innermost layers of the seed coat

(3) Degenerated nucellus

(4) Immature embryo

possible with the discovery of:
(1) Probes

(2) Selectable markers

(3) Ligases

(4) Restriction enzymes

Which of the following structures is not found in a | 13,

prokaryotic cell?

(1) Ribosome

|

|

|

|

|

|

|

|

|

The cutting of DNA at specific locations became|
|

|

|

|

|

|

|

|

(2) Mesosome |
|

(3) Plasmamembrane (4) Nuclearenvelope

Arrange the following events of meiosis in correct| 14.

sequence: I
a) Crossing over |
b) Synapsis |
|
|
|
|

d) Disappearance of nucleolus
1) (b), (a), (c), (d)
(3) (b), (c), (d), (a)

(
(
(c) Terminalisation of chiasmata
(
(

(2) (a),(b). (c). (d)
4 (b), (a), (d), (c)

A column of water within xylem vesels of tall trees does | 15.

not break under its weight because of: |
(1) Tensile strength of water |
(2) Lignification of xylem vessels |
(3) Positive root pressure |
(4) Dissolved sugars in water I

|

In mammalian eye, the fovea’ is the center of the visual I 9
|
|
|
|

1.

12.

T Aol & WS # WA BT SR oY 6 dvs © olaf

(1) =meqd e 93 # 91eR Fee |

2) ®Hdcl AATHY Bl 2|

3) T3l Bl UETT TAATHIV TP Il o

4) =il B FETAT AfdE B @, b TTeATHN T
I |

TP §a Tsh B QIR Sedsl Bl dell &l Tl Bl G

& forq fRIfdhcd® FCARDIT BT ITIANT B & | S &af

(1) efelal ¥ $ER & Jolydd ed H I & HROT
et MRt # ®ud 8 o & |

(2) el | aifedrel § BR & 989 @ 918 EfusTdR
PUC §% B O © |

(3) AV UdHfy SA Tl & Had UM B © |

(4) AV FUE g I E |

Hod RIS & RIS U R®IT 8

(1) Brschl Yoray

(2) &S AT P FIN §e dTell Adlg

(3) YU JISAvSHI

(@) sraRuad Yot

S1. U, U 3T fafre el W) ie 3 f5ad sffdshR |

[T g3T?

(1) "o

(2) Welacdd ATHIH

(3) g

4) R Tored

frfaRad # | B9 1 FET Ui s ! DIRTST § T2

Uiy ST ?

(1) g (2) e (AISie)

(3) TITSHT Dol (4) D= IR

LG AT BT STl Bl WEl HH H FART BIfoTu—

a) IR 3R (ST fafwa)

b) Rmfer (gerg)

C) HITHHET BT 3

(
(
(

)
d) @fs® B g BT

1) (b). (@), (c), (d) (2) (a), (b), (c), (d)

3) (b), (c), (d), (a) 4) (b), (@), (d). (c)

T d g&T Pl ST dANedIBI H STel BT W™ 30 IR A
8 <Al | SHPT BRI &

(1) S &I |da h

2) <T% drfedrel &1 forffamaso

(
(
(
(
(
(
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16.

17.

18.

19.

20.

21.

22,

The imperfect fungi which are decomposer of litter and | 16.

help in minearl cycling belong to:

|
|
|
(1) Basidiomycetes (2) Phycomycetes |
(3) Ascomycetes (4) Deuteromycetes I

o|17

The structures that help some bacteria to attach to
rocks and / or host tissues are:

|
(1) Fimbriae (2) Mesosomes I
(3) Holdfast (4) Rhizoids |
|
|

The DNA molecule to which the gene of interest is! 18.

integrated for cloning is called:

(1) Vector (2) Template

(3) Carrier (4) Transformer

Pick up the wrong statement: 19.

(1) Protista have photosynthetic and heterotrophic
modes of nutrition

(2) Some fungi are edible

(3) Nuclear membrane is present in Monera

(4) Cellwallis absentin Animalia

Metagenesis refers to: 20.

(1) Alternation of generation between asexual and
sexual phases of an organisms

(2) Occurrence of a drastic change in form during post-
embryonic development

parthenogenetic mode of reproduction
(4) Presence of different morphic forms

Which of the following events is not associated | 21.

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
(3) Presence of a segmented body and I
|
I
withovulation in human female? I
(1) Full development of Graffian follicle |
(2) Release of secondary oocyte |
(3) LHsurge I
(4) Decrease in estradiol |
Which of the following joints would allow no movement? I 22.
(1) Cartilaginous joint |
(2) Synovial joint |
(3) Balland Socket joint I
(4) Fibrous joint I

3qd Hadh I IRHC B JUECH B AR Wil & aH A
TERIAT B &, 9 fhasy awfRad 87

(1) SREEMERES (2) wReMERIES

(3) wrHIERIES (4) SRR

g AT SIl B ATl Bl Tl IT il Hddh FASH
B ¥ WEREr BRdl 8, T 87

(1) smerR 2) AEM

(3) EI=SHRT (4) T

T SLUAY. Y] DI &1 BB © [O1GH Fall B [T Bl
qrell SF BT FHTD T fhaT ST 272

(1) waEd (2) wuat
(3) dB’®H (4) BUR®
AT B Bl e

(1) wfexer # amor of fafdrt geerizeyoll da faerrroh
Il 8 |

(2) %O HIH @H AT B T |

(3) AFRT § B bl SURYT BT 2 |

(4) fraferar # SR fafky srguRerd &1 2 |

HCTOHRT ®UTGRYT fhsdT Havd <1 8—

(1) T®H SNg BT 3T 3R AR yravermsi & si9 qie
UhIaRT

(2) Yoedl yRaEE & SR Wwy § uRkadd &l arm
STHT |

(3) T |EE IRR AR A4 BI MRS A9 BT R
ST |

@) fafay wmal # grar S|

freferRad aeamsll # | 39 i gedr o 4 wsrl |
wafa 721 87

(1) A geo @ ot R

2) fe<iaem siss @1 fawrd

(3) LHYarE (LH ¥

4) ST H HH

ffoaRad & & @19 @ 9 {50 o srgafa 72 << 27
(1) SuTRere ey

(2) e

(3) ®gd Wicard! A

(4) X TR A
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23.

24,

25.

26.

27.

28.

Match the following list of microbes and their

importance:
(@) Sacharomyces (i) Production of
cerevisiae immunosuppressive

(b) Monascus purpureus (i) Ripening of Swiss
cheese
(c) Trichodemra
polysporum
(d) Propionibacterium

|
|
|
agents |
|
|
|
(if) Commerical production |

of ethanol
(v) Production of blood

|

|

sharmanii cholesterol lowering |

agents :

@@ (b) (¢) (d) |

(1) (v) (i) (i) @) |

@ (v) (i) @) (i) |

@ (i) () o (@ |

@ (i) ) 0 G |

The UN conference of Parties on climate change in the |

year 2012 was helf at: |

(1) Doha (2) Lima

(38) Warsaw (4) Durban

If you suspect major deficiency of antibodies in al 29

person, to which of the following would you look for
confirmatory evidences?
(1) Serum albumins (2) Haemocytes
(3) Serum globulins (4) Fibrinoginin plasma
Chromatophores take part in:

(1) Growth

(3) Respiration

(2) Movement
(4) Photosynthesis

Acid rain is caused by increase in the atmospheric | 27-

|

|

|

|

|

|

|

|

|

|

|

|

|

_ |
concentration of: |
(1) SO;andCO (2) CO,andCO |
(3) O,and dust (4) SO,and NO, |
During ecological seccession: |
(1) the establishment of a new biotic communityh is |
very fastin its primary phase. I

(2) the numbers and types of animals remain constant. |
(3) the changes lead to a community that is in near |
equilbrium with the environment and is called |
pioneer community |

(4) the gradual and predictable change in species :
composition occurs in a given area |

|

|

23, gEerolial &1 3R S7eb Heed & fAeAfARad I &1 Aetr

PHIfoTE:

(a) VBvrEIFHIoT (i) vfoReN TRAHD BRBI BT
TIaE SICS]

(b) 7 ’7’227527?7 (i) R I DT THTET

(c) FRHISH gichvared (jii) SUATA BT ATAAD
SRICE]

(d) Zfdst d7iiaTT
T
@ () (c) (d)
(1) v) (i) (i) ()
(2) (v) (i) @) (i)
(3) (@) @ v (i)
(@) (i) (v) @) (i)
a9 2012 ¥ Siefarg qRdc IR <ell BT g, T T Hal

(iv) SR ¥ PreRgTd HH
B BT PR

ESURIG
(1) <= (2) <
(3) AR @4) 49

i a1y fhdl =afth H ufaRfardl @1 TR AT BT 31T
ST X &, ol Y gfte & forg fereiforRad faar < gemor
T BHRA?

(1) ¥H Yo (2) &g

(3) WRH A e (4) I # i
Ul B 9P (PIHSIHR) fbsd fopar # 9T o €7

(1) i (2) =i

(3) waHA (4) BT HITTOT

3TFeT N ardTaRT H foaa! |igdr # 31fdrear & BRoT 8l
2

(1) SO,3RCO (2) CO,3RCO
(3) O, 3R ga (4) SO,3RNO,
UTRRRATIDBI AT & QIR

(1) SHD! UIAAS TaweIT H AT SIA TR g T |
Termfud Bl §

(2) Sigelt @ HwE iR fret Rer T |
(3) U W H BIM dTel IRl & BRI Il GI b
AR & FHIT BIAT B, RAOTH A& HE ©

@) o wiels o duer # Hfe iR uge 9ur o1
b arel aRadH & va &3 # g e 87
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29.

30.

31.

32.

33.

34.

35.

The oxygen evolved during photosynthesis comes from : 29. YD HIAYY B SR Fh1ia ifrio ot 3 amelt &
water molecules. Which one of the following pairs of | 99 fffshar # fFrefaRad awdl &1 SiF g™ e 87

elements is involved in this reaction? (1) T &R deferm

(1) Manganese and Potassium 2) AFIRRMA ok Aferesm
2) Magnesium and Molybdenum

(2) Mag y (3) AR SR T

(3) Magnesium and Chlorine
(4) Manganese and Chlorine (4) AT 3R FANIA

|
|
|
|
|
Which of the followin pairs is not correctly matched? I 30. fy=IferRea # & o9 |1 g7 |E GAford =2l 87
|
|
|
|

Mode of reproduction Example gor fafer SHEU]

(1) Rhizome Banana (1) gb< Eall

(2) Binary fission Sargassum () fegEeT HITTRTH

(3) Conidia Penicillium (3) @iAfear dfarterra

(4) Offset Water hyacinth | @) EEERINE

In the following human pedigree, the filled symbols| 31. FfaRed A demaet | WX gy Had waIfad Rl b
represent the affected individuals. Identify the type ofI U BYd 2 | S T INIael D UDbR Bl USTA-TY

given pedigree.
(i)
(i)

i

(iv)

(1) X- el AT
(1) X-linked recessive ) .
(2) Autosomal recessive 2) Wmagﬂa
(3) X-linked dominant (3) .m
(4) Autosomal dominant (4) ST wrdh

Which one of the following animals has two separate | 32.  FfeRad Sigsil # 4 fba U H a1 37T yRA=RT U
circulatory pathways? BId 57

(3) Shark (4) Frog (3) ¥ (4) He®

Flowers are unisexual in: 33. fHad g Uil BId 87

(1) Cucumber (2) Chinarose (1) @&R1 (2) ATARIST

(3) Onion (4) Pea (3) @A (4) wc}

Which one of the follownig fruits is parthenocarpic? | 34. fa=faRad & & &9 A1 %l AVHHA &

(1) Apple (2) Jackfruit (1) w9 (2) dcEd

(3) Banana (4) Brinjal (3) el @) &=

A pleiotropic gene: 35. U qguvIfdd Sii:

(1) IIT=T a9 BTl H BRI g3 i

(2) 3 S | AT BIhR Dbael Yeb @&ro B [Fraf==t
FRATR |

3) & afe # ggfay o o1 fFrafad o= 2 |

(4) Dt T yTedl # ARG BT B |

(1) isagene evolved during Pliocene.

(2) controls a trait only in combinatio with another gene
(3) controls multiple traits in an individual.
(4) isexpressed only in primitive plants

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(1) Lizard (2) Whale I (1) fsuemen @) &t
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
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(1) alleles tightly linked on the same chromosome

(2) alleles that are recessive to each other

(3) both alleles independently expressed in the
heterozygote

(4) one allele dominant on the other

(1) FHERBEN Udh & PRE R FHBR Tl +d el ¢ |

(2) 9 gEfaPHA Sl U §AR & foTU JuwTel Bidl 2 |

(3) fawH gwaret # Sl gl Wad wY W e
I 8|

(4) TH QBT A W YT BT & |

RE-AIPMT-2015/Code #D Date-25/0712015
36. Which of the following is not a function of the skeletal I 36. f=faRad § & BT Bhra—da H T8l B—
system? | (1) @S &1 HeRor
(1) Storage of minerals | (2) T BT I
(2) Production of body heat | @) @
(3) Locomotion | .
(4) Production of erythrocytes | (4) XHTIAT PT ST
37.  Ajawless fish, which lays eggs in fresh water and whose | 37.  STISTEIT HBell, ST 370 3fS reavr oot § <eit € forem
ammocoetes larvae after metamorphosis retumn to the | UHRIIE AR BRIGRYT & 918 9199 9% 4 94 ©, /&
(()10)ea/r’;1;;ine (2) Neomyxine I () o @)
(8) Petormyzon (4) Eptatretus | @) derE R (4) % EEE:
38. Filiform apparatus is characteristic feature of: |38, TIHY SYDRVT BT errefore Tor &
(1) Nucellar embryo | (1) dromsHe gt
(2) Aleurone cell I (2) TR DI ai_
(3) Synergids (3) WETd BIRIBIY
(4) Generative cell I (4) o IR
39. Read the different components from (a) to (d) in the list 39. T <1 T G A (a) W (d) T fafder szl 3R v
given below and tell the correct order of the components | IS FEdISToa T # 9TeR & AR BT MR ST Faven
with reference to their arrangement from outer side to | BT HH A
inner side in a woody dicot stem | (@) fedra® depe (b) IS
(@) Secondary cortex (b) Wood I (c) fadiras amare (d) ®rT
(c) Secondary phloem (d) Phellem | S T
The correct order s M @m.@.0 @@ @O b
(1) (@), (b), (d), (c) (2) (d), (a), (c), (b) |
@ @@ 0) @ (©) b).@ | O @E@b) @) 0@ |
40. Which one of the following hormones is not involved in | 40. HHMIGC? Sl iﬁ PITRIN T BT 2TebT ST H
sugar metabolism ? | UEEAL gj—c” g
(1) Aldosterone (2) Insulin I (1) TS {Uéa (2) $u§5
(38) Glucagon (4) Cortisone @) TP (4). P .
41. Goldenrice is a genetically modified crop plant WhereI H. IR \f”C’W) dlde Qiﬁ a'ilq'i'q’ t‘?tncnw el dled
the incorporated gene is meant for biosynthesis of : | & | gud AR S feas Sifde weewor @ fog & ?
(1) VitaminC (2) Omega3 | (1) faer@=c (2) S 3
(3) VitaminA (4) Vitamin B | (3) fac ﬁfi A 4) ﬁfﬁﬂr B .
42. Outbreeding is an important strategy of animal| 42 e # afeoT U Heeayet fpafafer & s 7% -
husbandry because it : I (1) SIge & Yg TeHH BT T I H WA 2|
(1) is useful in producing purelines of animals. | (2) ATUSHA B MGG B G HIA H IUARMT T |
(2) isuseful in overcoming inbreeding depression. | (3) TGRS ATl ST BT SFTad B AT ¥, R
(3) exposes harmful recessive genes that are | o ERT TSR T o9&t 21
eliminated by selection. | o o .
. . . | (4) dER SIHl & UHATHIT § AGE Hl ¢ |
(4) helpsin accumulation of superior genes. ]
, . _ | 43. g goIfaar <=1 arell o9 H T 8IaT & ?
43. A gene showing codominance has: |
|
|
|
|
|
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44. Which one of the following hormones through, 44.

45,

46.

47.

48.

49.

50.

51.

52.

|
synthesised elsewhere is stored and released by the:
master gland ? |
(1) Luteinizing hormone |
(2) Prolactin |
(3) Melanocyte stimulating hormone |
(4) Antidiuretic hormone |
Increase in concentration of the toxicant at successive I
trophic levels is known as : |
(1) Biodeterioration (2) Biotransformation |
(3) Biogeochemical (4) Biomagnification |
Industrial melanism is an example of : |
(1) Natural selection  (2) Mutation |
(3) NeoLamarckism (4) Neo Darwinism |
The primary dentition in human differs from permanent I
dentition in not having one of the following type of teeth. |

(2) Molars |

(4) Canine I

(1) Premolars
(3) Incisors

The wheat grain has an embryo with one, Iarge,|
shield-shaped cotyledon known as: |

(2) Scutellum
(4) Epiblast

(1) Coleorrhiza I
(3) Coleoptile |
The body cells in cockroach discharge their nitrogenous |
waste in the haemolymph mainly in the form of : |
(1) Potassiumurate  (2) Urea |
(3) Calcium carbonate (4) Ammonia |
Which of the following biomolecules does have |
phosphodiester bond ? I
(1) Monosaccharides in a polysaccharide |
(2) Amino acids in a polypeptide |
(3) Nucleic acids in a nucleotide |
(4) Fatty acids in a diglyceride |
The term “linkage” was coined by : |
(1) T Boveri (2) G.Mendel |
(3) W. Sutton (4) T.H.Morgan I
Which one is wrong statement ? |
(1) Mucor has biflagellate zoospores |
(2) Haploid endosperm is typical feature of |

gymnosperms |
(3) Brown algae have chlorophyll a and ¢ and |

fucoxanthin |
(4) Archegonia are found in Bryophyta, Pteridophyta I

and Gymnosperms. |

46.

47.
48.

49.
50

51.

52.

45,
6

fforRaa MM H & DT 8, BTefifh wal 3T I
R I BIAT &, cifdh DT RV AR RIS
Uy gRT BIaT 8 7

(1) SEHTSRT 8fHiH

(2) wrafded

(3) HAMINISE IGaIUD BIHM

(4) wfrgaroT SHf

JAThAS UMl WR W fAY &I Aigdr 91 BT R e © °

(1) SIF AYBYT (2) 9 HURT
(3) g yHRfNE @b (4) Si9 MmaET
SEE AT T SETERT 2

(1) Wi a=oT BT (2) IR &1
() FrarcHifdsH &1 (4) FrirsifdfeH @

H1e1d H wreifieh Safd=art il dadfawar 9 g9 A e
BT 2 fos iy <afa=ma # fRfoaled oF 4 goR &
TId 78 B ?

(1) 3RrEdvdh (2) TduTdH

(3) @d®d (4) YT

A & S 3 YOI H U 981 Bl & 3MPR BT dold sidl
2| 98 I HEAR & ?

(1) Ty et (2) ¥epcaH

(3) W ATt (4) sfrPRD

fOerare @ TRR—PINMHENY U ARSI JAURTE Bl
e H UUTE w9 ¥ 59 ©U § I <l § ¢

(1) dreRmem Re (2) IR

(3) dfcwd drdie  (4) T

FrforRad Sia TRl # 3 e H hRpreIgTer & BIl & ?
(1) TP Ui iapISsS ¥ AR oNIgS

(2) TH UUeZge H M o7t

() U fIracss H Jaelld AFe

(4) TP SIETAIIRIgS H 9T 37T

HgerdT (feiel) wreg fhd= YT fam o ?

(1) <. da=r (2) <N Hvsd

() Ty, Hed 4) dga. ArE

frfoRad # & BI9¥IT B Toad § ?

1) =@ fgeruiie ad Som) e £ |

2) 3O YOTAIT BTG AT UTSHT BT Ui FeTor & |
3) R Yl § e a Td ¢ AT WHIoei BId © |

4) SR, STTETSeT, SREWEeT 3R TRy Tl
H Ry STl R

(
(
(
(
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53.

54.

55.

56.

57.

58.

Ectopic pregnancies are referred to as: 53.

(1) Implantation of embryo at site other than uterus.

(2) Implantation of defective embryo in the uterus

(3) Pregnancies terminated due to hormonal
imbalance.

Pregnancies with genetic abnormality.

|
|
|
0 |
Most animals that live in deep oceanic waters are : | 54.
(1) secondary consumers |
(2) tertiary consumers I
(3) detritivores |
(4) primary consumers |
Which of the following diseases is caused by a| 55.
protozoan ? |
(1) Influenza (2) Babesiosis |
(3) Blastomycosis (4) Syphilis |
In which of the following interactions both partners are I 56.
adversely affected ? |
(1) Predation (2) Parasitism |
() Mutualism (4) Competition |
Identify the correct order of organisation of genetic| o7
|
|
|
|
|

material from largest to smallest :
(1)
2)

Genome, chromosome, nucleotide, gene

Genome, chromosome, gene, nucleotide

(3) Chromosome, genome, nucleotide, gene

(4) Chromosome, gene, genome, nucleotide

A colour blind man marries a woman with normal sight | 58.
who has no history of colour blindness in her family. What |

is the probability of their grandson being colour blind ? |

RIS FITHATY ST ST &

(1) aferg o AfARaT Yor BT fHel 31 3= WR FeRavr |
(2) TIRIGER YT BT THIRMI H R |

(3) WTHATY ST BIH & Ao B9 W 3fd &1 9Tl B |
@) |Fmiard R arafres fawHdaTd & |

SIETAR ST Sl Tex &g U1 4 I8 €, 9 8id ©

HRIT H A I T WIS & HIROT BT 87
(1) S%elgol (2) SRR

() ARCHIEHINRT 4) Rrofera

fr=faRad 4 9 fow areaRa® fohar 9 <1 S ufrad
w9 H gaTfad B € ?

(1) oR¥ET (2) wRSHfaar

(3) wARIBIRT @) wmt

e S ¥ URYM TR$ 99 BIC ® HH H ol ®
JMaiRRTe uarel & el HH BT ygaTy |

(1) SIEM, TORTE, Yfdedierss, SiF

(2) SIFH, TOREE, S, Gfderdicrgs

() TOREF, S, GfdrdIerss, S

(4) TOREE, S, SHM, Gfderdiergs

U quiter afad A g arel ve WY Afgerm & faars
HRaT 7, oaa uRaR &1 &g W e quiter T8 2
AU & UIdl & quIiel 819 & FT FHIET § 2

ap

1 1 @ Nil ) @ T
3 025 @) 05 @) 0 @) 05
59. Photosynthesis the light-independent reactions takeI 59. YT WAV H Yebrei—acy AfhATd el Blefl € ?
ﬂ?ciﬁét:osystem I (2) Photosystem-Ii | 0 A = @ Al
(3) Stromal matrix (4) Thylakoid lumen I S’) o Sﬂuﬁ . (.4) m.ls(.ﬂdmss ?’{qq’”?m’l
60. In which of the following both pairs have correct! 60. fr=ifeiRad & & fad <147 gl § Wl wWor € ?
combination ? |
) Gaseous nutrient cycle Carbon and sulphur : 0 TG a7 IO BT SN FoB
Sedimentary nutrient cycle  [Nitrogen and Phosphorus | IS TV Ah TSGR HRHRY
@) Gaseous nutrient cycle Nitrogen and sulphur | @) T O T TSSO SR Hehy
Sedimentary nutrient cycle  |Carbon and Phosphorus | AT T Th HEC TR BIEBIRE
3) Gaseous nutrient cycle Sulphur and Phosphorus | 3) 0 O T HeH 3R BRBRE
Sedimentary nutrient cycle |Carbon and Nitrogen | SISy N T BT SN Ao
@ Gaseous nutrient cycle Carbon and Nitrogen : @) TG a7 ah PET R TSI
Sedimentary nutrient cycle  [Sulphur and Phosphorus | ST TV Th Heh 3R BRBRE
|
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61.

62.

63.

64.

65.

66.

67.

The introduction of t-DNA into plants involves :

(1) Altering the pH of the soil, then heat shocking the
plants
(2) Exposing the plants to cold for a brief period

(3) Allowing the plant roots to stand in water

(4) Infection of the plant by Agrobacterium
tumefaciens

The wings of a bird and the wings of an insect are :

(1) analogous structures and represent convergent

!
|
|
|
|
|
|
|
|
|
evolution |

(2) phylogenetic structures and represent divergent |
evolution |

(3) homologous structures and represent convergent |
evolution |

(4) homologous structures and represent divergent |
evolution |

|

|

|

|

|

|

|

|

Root pressure develops due to :

(1) Low osmotic potential in soil

(2) Passive absorption

(3) Increase in transpiration

(4) Active absorption

Human urine is usually acidic because :

(1) excreted plasma proteins are acidic

2) potassium and sodium exchange generates acidity |
|
|

4) the sodium transporter exchanges one hydrogen |
ion for each sodium ion, in peritubular capillaries. |

(
(3) hydrogen ions are actively secreted into the filtrate.
(

A protoplast is a cell :
(1) without nucleus
(2) undergoing division
(3) without cell wall
(4) without plasma membrane

The species confined to a particular region and not found | 66.
elsewhere is termed as :

(1) Alien (2) Endemic

(3) Rare

Select the wrong statements : 67.

|

|

|

|

|

|

|

|

|

|
(4) Keystone |
|
(1) W.M. Stanley showed that viruses could be |
crystallized |

(2) Theterm ‘contagium vivum fluidum’was coined |
by M.W. Bejerinek I

(3) Mosaic disease in tobacco and AIDS in human |
being are caused by viruses |

(4) The viroids were dicovered by D.J. Ivanowski |
|

61.

62.

63.

64.

65.

redl § S—SLTAY. (t-DNA) & Yd91 I T 8IaT 2 |

(1) 9T & pH ¥ I AT & 3IR UIey H 19 yeard
BT g |

(2) UICHl BT ATS TUdTd & forg M # Igwriad axm
T B |

(3) UIRY Hall ®I STl H WS V& <l 2 |

(4) ue" H THRIINTE cgABRTT §IRT bl Bl & |

wefl & U 3R Pl b U

(1) S wU WA € 3R wo9d e & gl 2 |

(2) demael ATy € iR oy fadmr & geel € |

(3) WAGIKI AN & IR F9d fadr & il 7 |

(4) TSI TRAATY § SR AR faera & gwrfcd €

Horerd faaat avie | fefaa g g ?

(1) 9&1 3 /9 wRraRofl favg & dRor

() fAfspa sy & HRr

(3) IS H 91T B HRO]

(4) <afhg T & HRT

AT 3 AR ¥ 3Felig 8IdT & Fifd

(1) SARTd AT WM amwelig 81 2 |

(2) urRRrm 3R AT fafsa # arerar Yar 81 S 2|

(3) TSI MR Aihd w4 H AR I Ffdd & oI &

@) uRAfeTHTER PIRTERN #, Aifsad g 1dd
AITETH A F1 AT TP BTgSIo 3o & &R
QAT e |

SilagaTd U SIS © :

(1) d=d IMfed

2) faifora Bl g8

(3) Pif¥er fafy fea

(4) gz f3reet Ifed

T faRkre e # HIfd 84 arell SIfd &l S o d 18

arft Sl @ S R FHET AT 82

(1) faceh (2) ooy e

(3) g (4) P

AT HAF BT G :

(1) SYTH. ¥t = 2T ) fauTy] e efidhd 2 \ahdl 2 |

(2) ‘contagium vivum fluidum’ U< TH. Sy, faoiRe =1
feam e

(3) TwTE H fHHR AT 3R AW H U g, €L UE.
fawTopetl & gRT Bl € |

(4) fauTop, Q1. o1 gaHEwDT §RT @il T 9 |
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68.

69.

70.

.

72,

73.

74,

75.

Axile placentation is present in
(1) Lemon (2) Pea

!
|
(3) Argemaone (4) Dianthus |

A childiess couple can be assisted to have a child | gg,

through a technique called GIFT. The full form of thiS|
techniqueis :

(1) Gamete intrafallopian transfer

(2) Gamete internal fertillization and transfer

(38) Germ cell internal fallopian transfer
(4) Gemete inseminated fallopian transfer

would result in loss of :

(1) voluntary motorimpulses
(2) commissural impulses
(3) integratingimpulses

(4) sensory impulses

During biological nitrogen fixation, inactivation of| 71

nitrogenase by oxygen poisoning is prevented by : |
(1) Xanthophyll (2) Carotene |
(3) Cytochrome (4) Leghemoglobin |

An association of individuals of different species livingin | 75

the same habital and having functional interactionsis: |
(1) Bioticcommunity (2) Ecosystem

(38) Population (4) Ecological niche

Name the pulmonary disease in which alveolar surface 7

area involved in gas exchange is drastically reduced
due to damage in the alveolar walls.

(1) Emphysema (2) Pneumonia

(3) Asthma (4) Pleurisy

Balbiani rings are sites of :
(1) Nucleotide synthesis
(2) Polysaccharide synthesis
(3) RNA and protein synthesis
(4) Lipid synthesis
Match the columns and identify the correct option.

Column-l Column-Il

(@) Thylakoids (i)
Golgi apparatus

(b) Cristae (i) Condensed structure of
DNA

(c) Cisternae (i) Flat membranous sacs
in stroma

(d) Chromatin (iv) Infoldingsin

mitochondria

@ () (c) (d)

(1 (i) @ 0 (i)
@ (i) @) (v (i)
(3 (i) (v) (i) @)
@ @) (i) @) (i)

|
|
|
|
|
|
|
|
|
|
|
|
|
|
Disc-shaped sacs in I
|
|
|
|
|
|
|
|
|
|
|
|

|
|
|
|
|
Destruction of the anterior horn cell of the spinal cord | 7
|
|
|
|
|
|

68.

0.

3
74.
5

TR o = fad grar 87

(1) g (2) #ex

(3) it (4) ST

U (A=A Sufy o GIFT AW ddmild & SR Sal U
PR H HGG BT Ol Wil & | S AP+ilcb BT GRT TH B |
(1) IFAHAT AfTHT H D BT TR

(2) ISP BT AR FYFF 3R AR

(3) 3MaR® heldl AfeTeT H ST BIRIHT BT AR
(4) IRARIT BAT TAleTdT H JTHD BT AR
A¥Xog] B 1T B @ PIRTIY Ik e 81 WY o s
IR ey fhadT ard gRTT?

(1) vfo® IR$ ufaad

(2) e ufcrad

(3) Rl St ufdad

(4) o< ufdred

Aggo RIREBROT & SRM RIS & favel v &l
qrgeior ®f Af¥paexor oot gRT AT ST 27

(1) SIftha (2) FRifeA

(3) <rScIEEM @) e

& & gaiard | I8 @ fafr= |iRler o aftedr &
IRARE Faer 3R foharerd fohar a_T /'

(1) Sdra wqgean (2) uiRax

(3) wAfe @) uiRRerfas fRaa /=
I HERAT T BT AW FA1y T HiUs MR & e
B O & RV G- | e e aagr a3

9g4 21fdd & B AT 2 |

(1) araesifa (2) =A==
(3) s (4) IR
FRoTTT Tl A B

(1) =fFeRicEs Ie &

(2) UIRONIZS HloT &

(3) RNA IR Ui Hweler &

@) fafs deaivor &

BIGHl & drF AT SIS 3R Al fddhed g
Bicti-l HicH-ll

(@) URIhigS (i) TITeol SUBRY & FEThHI

DY

(b) fopey (i) DNA @1 Fafra ExemT

(c) Rt (iii) ¥Er ¥ e et g oy

(d) e (iv) ATgcIPifsgar # sfaderd
@ () (c) (d

(1) (i) @v) @) (i)

@ (i) @) @) (i)

3) (i) (v) (i) ()

@) (v) (i) @) (i)
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76. Cellular organelles with membranes are : I
(1) chormosomes, ribosomes and endoplasmic |
reticulum |

(2) endoplasmic reticulum, ribosomes and nuclei |

(3) lysosomes, Golgi apparatus and mitochondria |

(4) nuclei, ribosomes and mitochondria |

77. Auxin can be bioassayed by : |
(1) Hydroponics I

(2) Potometer |

(3) Lettuce hypocotyl elongation |

(4) Avena coleoptile curvature |

78. Which of the following layers in an antral follicle is| 78.

acelluar ?

(1) Thecainterna
(2) Stroma

(3) Zona pellucida
(4) Granulosa

79. Satelliete DNA inimportant because it :

(1) shows high degree of polymorphism in population
and also the same degree of polymorphism in an
individual, which is heritable form parents to
children.

(2) does not code for proteins and is same in all
members of the population

(3) codesfor enzymes needed for DNA replication
(4) codes for proteins needed in cell cycle.

80. Cellwallis absentin:

(3) Nostoc (4) Aspergillus
81. In angiosperms, microsporogenesis and
megasporogenesis :
(1) form gametes without further divisions
(2) Involve meiosis
(38) occurinovule
(4) occurin anther
82. Roots play insignificant role in absorption of water in
(1) Pistia (2) Pea
(38) Wheat (4) Sunflower

83. Which of the following are most suitable indicators of | 83,

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

(1) Funaria (2) Mycoplasma |
|

|

|

|

|

|

|

|

1| 82

|

|

|

SO, pollution in the environment? I
(1) Conifers (2) Algae |
(3) Fungi (4) Lichens |
|

|

7.

79.

80.

81.

Rreeligad FIRIER a7 3 :

(1) ORI, SarH 3R TSI e

(2) TSIaRHAS feHeH, 5aAMH AR Bxdb

(3) ATIErA, Tifeoll SUBRT 3fR HISCIhI el

@) Db, TSR AR ASCIDI

IS BT fhad gRT SIg far S adar 272

(1) <o Fdae= &

(2) UM ¥

(3) <icgd dNUARIR & o |

(4) TIAT UTGR A1 B a3

THT e A FEfaRad § | SIeRI ABIRIS Bl 57

(1) AT AT (TR UTaRS)

(2 wzmr (i3

(3) ST USRS (URERIT 3fTarvN)

(4) Sgelrar (HfrT)

31327l DNA Ae<aqul 8Id1 & wifd I8 :

(1) e # I=d B BT IR IR AT & Y fdd
H I B BIfe BT agwuar Uad bral & !
MY STH®! W gl b 81 Fhall 2 |

(2) UISHI & foly Pled &1 drar AR FAfte & Tl
ARl H VT I © |

(3) S USITsHl B forg Bred wxar § RFar DNA &
girpeia & forg STverd BIdl & |

@) <9 UHl & forg dred wRar g Ra It g%
@ forg STexa Bl 2

foaw BIf3reT fARY &1 3T Bar 27
(1) wFRar (2) HATZPIATHT
(3) AeT® (4) Tafsers

TG TSl ureul # AT 3R THAISI] ST:
(1) o1 oy favToe & gwoes 99 2 |
(2) g ¥ fawTsT g7 & 7 |

(3) doivs H gar ¥ |

(4) WRETHN FH Bl B |

freH ST STef o9or # o7 B Rl 27
(1) faRaar (2) X

() T (4) g

fAffeRad § @ o9 ve waiarer § SO, UguYT &l Had
A ADhdd 22

(1) <Em (2) Aaret

(3) ®dd (4) g
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84.

85.

86.

87.

88.

89.

90.

Grafted kidney may be rejected in a patient due to :
(1) Cell-midiated immune response

(2) Passiveimmune responce

(3) Innate immune responce

(4) Humoral immune responce

Body having meshwork of cell, internal cavities lined

with food filtering flagellated cells and indirect
development are the characteristics of phylum.

(1) Porifera (2) Mollusca

(3) Protozoa (4) Coelenterate

In which group of organisms the cell walls form two
thin overlapping shells which fit together?

(1) Euglenoids
(3) Slime moulds

(2) Dinoflagellates

(4) Chrysopytes

Choose the wrong statements:

(1) Neurosporais used in the study of biochemical
genetics

(2) Morels and truffles are poisonoues mushrooms

(3) Yeastis unicellular and useful in fermentation

In human females, meiosis-Il in not complete until?
(1) fertilization

(2) uterine implantation

(3) birth

(4) puberty

Eutrophication of water bodies leading to killing of fishes
is mainly due to non-availability of :

(1) light

(2) essential minerals

(3) oxygen

(4) food

The enzyme that is not present in succus Entericus is
(1) nucleases

(2) nucleosidase

(3) lipase
(

!
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(4) Penicillium is multicellular and produces antibiotics |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
4) maltase |
|

|

|

|

|

=Y T UIRITIT g (fhel) Bl SRAIBR s H1RoT
e < aar 2°

(1) e wrfead ufiRer srgfoan

2) fftpa ufoRem srgfosan

(3) el UfRe srfehar

(4) TR (BgHRd) UfRe srfhar

IR H PIRTHRI BT STd B4, @ga e &1 Fwicd
R dTel] HEMADBTHI BIRIDBI3I I AR AR TETAT
BT ATITSIT, TAT YT YRTET BT BT (5 BIger B

fafdrseant 87

(1) difRexT (2) HreTpT

(3) drersian (4) drel=exer

Siral 7 %1 Tg # iRt MRT &7 udell siframdl dael
@1 91 Bl © ST YAl ST Biell 87

(1) TS (2) SRFTIfRTT

(3) IFIUD PID (4) wrgEHEe

AT B Bl G

(1) IRRUF BT STIRARI AR & AT H SUINT
forar Simar 2 |

2) WRA R <Hel falel B9 2 |

(3) IRT UFHIRT@HI T AR fhvas # Iuarf 7 |

(4) UfFRAfoRM g & 3R ufiide Sarfed a=ar 2 |

Aq ATeTsi #, sreREEfI -1l fhas qof g oM w8

BIT 57

(1) ==

(2) e H 3reTud

(3) ==

@) drTRA

STelrg el &1 ggifthaed foTd® RO A8ferdl AR

I B, fha) SUSrdr 9 819 & SR Blar 87

(1) T

(2) 3MaEED @i

(3) oiffdas

(4) o

IE Ul ST &4 TR (3113 <) # Hig[e =81 grar?

(1) —gfaertst

(2) ~gfecrsnfrsst
(3) rsuUS
4) HAreeS
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91.

92.

93.

94,

95.

96.

(CHEMISTRY

Reaction of phenol with chloroform in presence of dilute | 91,

sodium hydroxide finally introduces which one of the |
following functional group ? |

(1) —CH,CI (2) —COOH |
(3) —CHCI, (4) -CHO I
If the equilibrium constant for |
N,(g) + O,(g) == 2NO(g) is K, the equilibrium constant I
|
|
|
|

1 1
for 2 N,(g) + 2 0,(g) == NO(g) will be :

1

(1) K?2
@) K

1
(2 5K
@) K2 |

20.0 g of a magnesium carbonate sample decomposes | 93.

on heating to give carbon dioxide and 8.0 g magnesium |
oxide. What will be the percentage purity of magnesium |
carbonate in the sample ? (At. Wt.: Mg = 24)
(M 75 2) 9%

(3) 60 4) 84

The number of water molecules is maximum in :
(1) 18 molecules of water

(2) 1.8gram of water
(3) 18 gram of water
(4) 18 moles of water

The formation of the oxide ion 0% (g), from oxygen
atom requires first an exothermic and then an
endothermic step as shown below :

0(g) + & —>07(g) ; AH®=~141 kJ mol™’

0 (g) + e« —»027(g) ; AH®= +780 kJ mol™*
Thus process of formation of O%" in gas phase is|
unfavourable even though 0% is isoelectronic with |
neon. It is due to the fact that |
(1) Electron repulsion outweighs the stability gained |
by achieving noble gas configuration |
O~ ion has comparatively smaller size than oxygen |
atom |
Oxygen is more electronegative |
Addition of electron in oxygen results in larger size |
of the ion. |

What is the mole fraction of the solute in a 1.00 m | 96.

aqueous solution ?
(1 0.177

(2) 1.770 I
(3) 0.0354 |

(4) 0.0177
|

9

9

95.

2.

4,
5

fOhiTet @1 fshaT AR & A1 a9 NaOH # & RaM W)
fr=ferRaa # 9 sfad: sF—w1 i ITA® g Tar g ?
(1) —CHLCI
(3) —CHC, (4) —CHO

I N,(g) + O,(g) == 2NO(g) &1 Hr=rawer ReRid K8,

1 1 .
a5 N,(g) + 5 0,(g9) == NO(g) &1 Ar=ra=e Reri®

(2) ~COOH

BN :
1 1

(1) gz @ 7K

3 K (4) K

20.0 g HFIIRRM BIEFE & T Bl TH B WR qafed
BIhx B ST 3ifaATgS Ua 8.0 g AR oifadrss <ar
2| T A ANRRM @ gedr @ g @ g ?

(At. Wt.: Mg = 24)

(1) 75 2) 9%

(3) 60 4) 84

SIet JARIT Dl AfaH e 2

(1) Ol & 18 Ui

(2) 1.8 9™ U=l H

(3) 18 U™ U #

(4) 18 #Hiet Ui H

3ffeRITgS 3T 02 (g), T SfaRAIST TR | g+ & fordy
gl S Td 916 # S U A i T §

0(g) + e —>07(g) ; AH®=~141 kJ mol™’

0 (g) + & —>0%(g) ; AH = +780 kJ mol™’
A1 sraven § O &1 a1 Ufige € gafy 0% fsia
P GHSGGST & | UE b d2F b BRI B ?

AI9et 19 & = Uifid & BROT Wi 9, goldei
gfapyor guTgeTel BT § |

O-JATI BT IHR ARSI WA BT eIl 3 Bl

BT R |

JATRATST SATeT degd oD & |

TR | SATSE B S I I BT BRI
BT B |

1.00 m STeira faeras 7 fJerg @7 9a ofer § -

(1) 04177 (2)1.770

(3) 0.0354 4) 0.0177
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97. The rate constant of the reaction A—»B is 0.6 x 10'3| 97. 3ifafhar A—»B & foru 9 ReRris 0.6 x 1072 |TeT ufey

mole per second. If the concentration of Ais 5 M then

concentration of B after 20 minutes is :

(1) 1.08 M
(3) 0.36M

98. Decreasing order of stability of O,,0, ,0; and 0% is| 98.

) 3.60M
4) 0.72M

(1) 0;>0,>0,>0;

@ 0;>0,>0,>0,

@) 0,>0,>0; >0,

4) 0,>0; >0,>0,

99. Which one of the following esters gets hydrolysed most | 99.

easily under alkaline co

2

nditions ?

OCOCH,
(1) /©/
O,N

OCOCH,

)
H,CO

OCOCH,
0 (Y

OCOCH,
o JJ
cl

100. On heating which of the following releases CO, most | 100.

easily ?
(1) K,CO,
(3) MgCO,

101. Which one of the following pairs of solution is not an

acidic buffer ?
(1)HCIO, and NaCIO,,

(2) Na,CO,
(4) CaCO,

(2) CH,COOH and CH,COONa

(3)H,CO,and Na,CO,
(4)H,PO, and Na,PO,

102. The sum of coordination number and oxidation number
of the metal M in the complex [M(en),(C,0,)ICI (where

en is ethylenediamine) is :

(1) 9
@) 7

) 6
4) 8

JPpvs B | e AP F=dar 5 M g aT 20 fafse gwanra B
P A=l B ¢

(1) 1.08 M (2) 3.60M
(3) 0.36M 4) 0.72M

0,,0; ,0; TAT O & W Pl Tl g3 HH o
(1) 0,>0,>0,>0;
(@) 0;>0,>0,>0,
3) 0,>0; > 03 > O,
4) 0,>0; > 0,>0,

f=fIlRad & I P —a1 TRex &R T H Fa AReAdT
3 Sieferuafed BT @ ?

OCOCH,
(" /©/
ON

2

OCOCH,
@ /©/
H,CO

OCOCH,
O
OCOCH,
@ Q
Cl

e o A fbere! T dxA IR CO, Haifdreh il &
Icafeid grft ?

(1) K,CO, (2) Na,CO,

(3) MgCO, (4) CaCO,

1. FrefaRad faeraql & gHl § | BI—3T 3R I e
g7

(1)HCIO, TdNaCIO,

(2) CH,COOH T4 CH,COONa

(3) H,CO, 7@ Na,CO,

(4) H3PO4QETNa3PO4

2. Xiga [M(en),(C,0,)ICI (STel en SRITeIgUHIM 8) ¥ &g
M @) SUFRHAST R&T UF i RITBROT G 6l AT &
(1 9 2) 6

@ 7 4) 8
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103.

104.

105.

106.

107.

Which of the statements given below is incorrect ? I
(1) Cl,0, is an anhydride of perchloric acid |
(2) O, molecule is bent |
(3) ONEF is isoelectronic with O,N~ I

(4) OF,isan oxide of fluorine |

In the reaction with HCI, an alkene reacts in accordance | 104.

with the Markovnikov’s rule, to give a product|
1-chloro- 1-methylcyclohexane. The possible alkene |
is :

CH, CH,

(1) ij (A) @)
CH,
(3) (A)and(B) 4) @

of the followmg compounds with a strong acid ?
Q) (CHs)ZCH—(IZH—CH=CH2
CH,
(2) (CH,),C-CH=CH,
(3) (CH,),C=CH-CH,-CH,
(4) (CH,),CH-CH,-CH=CH,
The following reaction

(B)

(-

is known by the name :

(1) Friedel-Craft’s reaction
(2) Perkin’s reaction

(3) Acetylation reaction
(4) Schotten-Baumen reaction |

In the extraction of copper from its sulphide ore, the | 107.

metal finally obtained by the reduction of cuprous oxide |
with : |
(1) iron (II) sulphide

(2) carbon monoxide
3)
(4)

|
|
copper (I) sulphide I
sulphur dioxide |
|
|

103. < T HUET § | HIF—7 Tad & ?

(1) CLO, Tacid 31t FT TISESIES B |

(2) O, 31 T 83T & |

(3) ONF wHgelagHl & O,N "o el

(4) OF, 7RI &1 ifa4rss & |

U% Yo HCl & IAfohar ke ARGIMG% 99 &

TR TS 1-FARI-1-HIIAATSIARTIT <l & | FTfaT
Tedhid B :

CH, CH,
(1) ij (A) @) @ (B)

CH,
(3) (A)uwd(B) 4)

5. fa=feRag & & fo AT & gaat st & |1 TH
P R 2,3-SRARA-2-KSIH & T IAIT ST Fabvell & 7

(1) (CH3)2CH—(I3H—CH=CH2

CH,
(2) (CH,),C—CH=CH,
(3) (CH,),C=CH-CH,-CH,

(4) (CH,),CH-CH,-CH=CH,

(4) e —am= Irtafchar

AT IIRDI H A BIUR & [THYN H €T BT UK B
& fordl 3id: RUN JiTTATgS BT U= g AT Iam
g7?

(1) SA=RA (M) AhlsS

(2) HEA AFTAES

(3) DR (I) AHTES

(4) Towx SIS
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108. If Avogadro number N,, is changed from 108. afe 3marar wwer N,, 6.022 x 102 mol™' 9 oRafta

109.

110.

11.

112.

|
6.022 x 10 mol™ t0 6.022 x 10%° mol™" this would :
change: |
(1) |
@ l
3)

the definition of mass in units of grams
the mass of one mole of carbon

the ration of chemical species to each otherin a |
balanced equation. |

the ratio of elements to each other in a compound |

)

The variation of the boiling point of the hydrogen halides | 109.

isin the order HF > HI > HBr > HCI. What explains the
higher boiling point of hydrogen fluoride ? I
(1) The electronegativity of fluorine is much higher than |
for other elements in the group. |

(2) There is strong hydrogen bonding between HF |
molecules |
(3) The bond energy of HF molecules is greater than |
in other hydrogen halides. |
The effect of nuclear shielding is much reduced in :
|

fluorine which polarises the HF molecule.

)

Which of the following reaction (s) can be used for the |
preparation of alkyl halideds ?

(1) CH,CH,OH + Hol—2220¢k_,

(Il) CH,CH,OH + HC| —————»
(Ill) (CH,),COH + HCl ———

IV) (CH,),CHOH + HCl —2-20Ck

|
|
|
|
|
( |
(1) (), (yand (1V) only I
(2) (I)yand (Il)only |
(3) (IV)only |
(4) (lll)and (IV)only I
The name of complex ion, [Fe(CN)6]3' is: |
1) I
2 |
(3) |
@ I
Assuming complete ionization, same moles of which |

of the following compounds will require the least amount |
of acidified KMnO, for complete oxidation |

(1) FeSO, (2) FeSO, I
(3) FeC,0, (4) Fe(NO,), |
|

Hexacyanoiron (1) ion
Hexacyanitoferrate (l1l) ion
Tricyanoferrate (1) ion

Hexacyanidoferrate (Ill)ion

110.

11.

112.

PR 6.022 x 10 mol™" T & 1 3w« uRac= e
(1) s @ R g gfie # |

(2) UH Al HEA BT TIHA |

(3) AT TR 3 URER RIS WIS T U |
(4) AP § URER Tedl DT AU |

gIgSIolT 2digs! ® ddid H gRad+d & $HH 4 B

HF > HI > HBr > HCI BIgSIST TaiRSS & Sedd da2iih
P IRAT FT 8 ?

(1) TERM 1 9gd FOMHST F8 & a8 i I
Iga 1fde B 2 |

HF aropelt # gTSgIoT =1 o 31f¥e i 2 |
HF 9] & 31Tder ol G¥R BTgeIoT A 2ofigs! A
AP 2 |

TR H AIRYaT gRReToT W 9gd HH BT ©
ST &5 HF 379] &7 ¢fad & 2 |

frfoRed % & Sl it / siffrand Yfewmar 2omgs
@ o= § SuanT # o 9ad § ?

firsfer ZnCl,

@)
3)

)

(1) CH,CH,OH + HCl
(Il) CH,CH,OH + HCl —————
(Ill) (CH,),COH + HCl ———»

IV) (CH,),CHOH + HCl — 20k

1) ®ad (1), () e (1V)

2) @aa (1) (1)

3) @ad (IV)

@) @aa ()= (IV)

Heget 3T [Fe(CN) > &1 M 2
(1) STAAIARIIRA (IIl) 3=
(2) TaATsiRIBNE (IIl) 3T

(3) cEAREmRE () 3ma=

(4) THNIAGSIHRE (1) JMIT

9T SATIHIDHROT BT A gY FforRad § | $I94 AIffw
@ qUT SiTeRITARUT H G bH H131 H 3retid KMnO, @1
TaTIDHAT BN ?
(1) FeSO,
(3) FeC,0,

(
(
(
(

(2) FeSO,
(4) Fe(NO,),
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113. Inwhich of the following pairs, both the species are not | 113.

114.

115.

116.

17.

118.

119. A gas such as carbon monoxide would be most likely | 119.

isostructural?

(1) sicl, PCl,*

(2) diamond, silicon carbide

(3) NH,, PH,

(4) XeF,, XeO,

Caprolactum is used for the manufacture of :
(1) Nylon-6

(3) Terylene (4) Nylon-6,6

The hybridization involved in complex [Ni(CN)4]2' is
(At. No. Ni = 28)
(1) dsp® 2 sp’

(3) dsp? (4) dysp,

What is the mass of precipitate formed when 50 mL of |
16.9% solution of AgNO, is mixed with 50 mL of 5.8% |
NaCl solution ?

(Ag =107.8, N=14,0 =16, Na = 23, Cl = 35.5)

(1) 28g (@) 3.59

@) 79 4) 149

Gadolinium belongs to 4f series. It's atomic number is

64. Which of the following is the correct electronic
configuration of gadolinium ?

(1) [Xel4fP6d? (2) [Xe]4f%5s'
(3) [Xe]4f'5d'6s? (4) [Xe] 4f°5d%6s>
Which of the following is not the product of dehydration

2 (Y
4>02v

|
|
|
|
|
|
|
(2) Teflon |
|
|
|
|
|
|
|

(
N
(

of W?
(1) O)J\/

to obey the ideal gas law at :
1) high temperatures and low pressures.
2)

|
|
_ |
low temperatures and high pressures. |
3) high temperatures and low pressures. |
|
|
|
|

(
(
(
(

4) low temperatures and low pressures.

114.

1
1

115.

116.

17.

118.

fforRad gl # | ST a1 RIS TS
TE 7 ?

(1) sicl, PCl,’

() Ery, fafereta sElgs

(3) NH,, PH,

(4) XeF,, XeO,

dUTAdeHd BT SYANT 7 7 & fhds Sure & 8Iam ®

(1) AT -6 (2) <ward

(3) eRef (4) 13T - 6,6
ezt [Ni(CN),J*# Hapvor 8 : (4. Ni = 28)
(1) dsp? 2) sp’

(3) d’sp? (4) d,sp,

9 50 mL, 16.9% AgNO, @ fderae @1 50 mL, 5.8%
NaCl & faera= & wrer fAf3d fbar Srar 8 @ a9 aret
Y BT R T & ?

(Ag = 107.8, N = 14, O = 16, Na = 23, Cl = 35.5)

(1) 28¢ 2) 35g

@) 79 (4) 149

Siferf = 4f Ao I Heifdd 2 | SHST URATY] HEAT 64 7 |
fr=falRad #§ 9 HsIfaf~am &1 s 981 soldgii—ed
fooma g ?

(1) [XeJ4f®6d? ) [Xel4fss'

(3) [Xe] 4f'5d'6s? (4) [Xe] 4f°5d%6s>
ffeRad & | ST ST,

O/&/zmazﬁwmﬁ%
N p
® o (T

TS I O $EA AFeags el i 99 &1 urer
o <o ® &

(1) <=a al vd =1 g&i )

(2) = i vd I=a qE W

(3) STa aml vd = € W

(4) = amal vd o 1 qral R
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120. The stability of +1 oxidation state amongAl, Ga, Inand | 120.
Tl increases in the sequence :

121.

122.

123.

124.

125.

126.

127.

128.

™

3) TI<In<Ga<Al
What is the pH of the resulting solution when equal | 121.

Ga<In<Al<Tl (2) Al<Ga<In<TI

|
|
4) In<TI<Ga<Al I

volumes of 0.1 M NaOH and 0.01 M HCI are mixed ? |

(™
3)

Strong reducing behaviour of H,PO, isdue to :

(™
@)
3)
)

The number of structural isomers possible from the| 123.
molecular formula C;H N is : |

(1) 4 |
@) 2
Which of the following statements is not correct for a | 124.

12.65
7.0

2) 2.0 |
4) 1.04

Presence of one —OH group and two P—-H bonds
High electron gain enthalpy of phosphourus
High oxidation state of phosphorus

Presence of two —OH groups and one P—H bond.

2 5
@) 3 |

nucleophile ?

™
@)
3)
)

Nucleophile is a Lewis acid

Ammonia is a nucleophile

Nucleophiles attack low e-density sites

Nucleophiles are not electron seeking.

[Co(en),Cl,]CI will be (en = ethylenediamine)

1) 2

3)

Which is the correct order of increasing energy of the | 126.
listed orbitals in the atom of titanium ?

|
(1) 3s 4s 3p 3d (2) 4s 3s 3p 3d |
(3) 3s3p3dd4s (4) 3s3p4s 3d |
Inan Sy 1 reaction on chiral centres there is : I 127.
(1) 100 % racemization |
(2) inversion more than retention leading to partial I
racemization |
(3) 100 % retention |
(4) 100 % inversion |
The vacant space in bcc lattice cell is : 128.
(1) 26% (2) 48 % |
3) 23% @) 32% |

(2) 1
3 (4) 4

|
|
|
|
|
|
Number of possible isomers for the complex| 125.
|
|
|
|

|
|
| 122.
|
|
|
|
|
|

+1 3fTRIHROT 3/wer &1 i Al, Ga, Inwd Tl H

3G # 9T B

(1) Ga<In<Al<Tl (2) Al<Ga<In<TI

(B) Tl<In<Ga<Al (4) In<TlI<Ga<Al

0.1 MNaOH ©d 0.01 M HCI & |HIF 3RIa &I A3

PR IR g9 Tl fder g & pH T 8 ?

(1) 12.65 2) 2.0

3) 7.0 (4) 1.04

H,PO, & Ydel S(uirdes T[0T bl BRI 2 :

(1) U® —OH \HEg Ud &I P-H 3reell & SuRerfa

(2) BIHRA B Ied Folagid ITe! T |

(3) IR B I=a IITaRATHROT ra=T

(4) <= —OH Wil vd Ue P-H arrder @ SuRerfy

TIREA C,HgN ¥ a1 dlel HH1fde AR T

P AT B

(1) 4 2 5

3) 2 (4) 3

ffeiRed H0 DHAT B AiffidTel & forl T8l 181 § 2

(1) TAGEE 24 3 ¢ |

(2) ST Ud A1 Fel ¢ |

(3) FMHHHAZT FHH Felde i Teicd AT YR JTHAU
FRAT 2 |

(4) ABE SdSid B Tl | 81 I8ar 2 |

Hael [Co(en),Cl,]Cl & Huifa FaTaadl ! deer sl
(en = SRRIFSIETHN)

(1 2 2 1

@) 3 4) 4

SIS WRATY] & A T Pefehl BT ol BT dedl g3l
HE HH B A 7 ?

(1) 3s4s3p3d (2) 4s 3s3p 3d

(3) 3s3p3di4s (4) 3s3p4s 3d

HISRA D75 W Sy 1 AAHAT H BT ©

(1) 100 % IRFraoT

(2) ERY | SITRT YA & §IRT 3715 IRFHIBROT
(3) 100 % &rRor

4) 100 % wfarem=

bcc SITeld T BiftsdT § Rad ¥amH 8Idl © ¢

(1) 26% (2) 48 %

3) 23% 4) 32%
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129.

130.

131.

132.

133.

134.

135.

the heat of combustion of carbon to CO, is| 129.
—393.5 kJ/mol. The heat released upon formation of|
35.2 g of CO, from carbon and oxygen gas is |

(1) -315kJ (2) +315kJ |

(3) —630kJ 4) -3.15kJ |
Aqueous solution of which of the following compounds | 130.
is the best conductor of electric current ?

(1) Aceticacid, C,H,0O,
(2) Hydrochloric acid, HCI
(3) Ammonia, NH,

(4)

The oxidation of benzene by V,O, in presence of air | 131.

produces : |
(2) maleic anhydride I
(4) benzaldehyde |

Reaction of a carbonyl compound with one of the| 132.
following reagents involves nucleophilic addition followed
by elimination of water. The reagent is :

Fructose, C;H,,04

(1) benzoic anhydride

(3) benzoic acid

(1) aGrignard reagent

(2) hydrazine in presence of feebly acidic solution

(3) hydrocyanic acid

(4) sodium hydrogen sulphite

133.

™
@)

hydrolysis of phenylisocyanide with acidic solution
degradation of benzamide with bromine in alkaline
solution

reduction of nitrobenzene with H,/Pd in ethanol
potassium salt of phthalimide treated with
chlorobenzene followed by hydrolysis with aqueous |
NaOH solution. |

Two possible stereo-structures of CH,CHOH.COOH, | 134,
which are optically active, are called. I

(1) Diastereomers (2) Atropisomers |

(3)

|
|
|
|
|
|
|
Method by which Aniline cannot be prepared is : I
|
|
|
|
(4) |

(3) Enantiomers (4) Mesomers |

The correct statement regarding defects in crystalline | 135.

solid is : |

(1) Schottky defects have no effect on the density of |
crystalline solids |

Frenkel defects decrease the density of crystalline |
solids

Frenkel defect is a dislocation defect.

|
Frenkel defect is found in halides of alkaline |
metals. I

BT 3 Bl STS3NRTSS B ford g8 H —393.5 kd/mol.
2| BT U4 SR A 35.2 g 999 TR Scafid T &
(1) —315kJ (2) +315kJ

(3) —630kJ (4) —3.15kJ

o AifrepT 3 A T STeiry [aerad fagga arT &1 Jay
3BT GATAD T ?

(1) TRfed ar, C,H,0,

(2) EESIFAIRS 31, HCI

(3) I, NH,

4) waeH, CeH,,04

&A1 BI SURART H 757 BT SATRIBROT V,0, & FRT <l
g

(1) SISH TABISSISS  (2) Holgdh UABISSISS

(3) Iwifs® 37t @) soifesERs

Pratel AIfE @1 ifafchar & /=1 § & dl=—1 sifiwHs

ARAEEE AT B YA O BT fAA™T gar 2|
Ifpd® 2

(1) =TS sifies

(2) el faerad & gIggroie

(3) EIESNIM® 37

4) |IfeTH BSeIoT 7 Aehlsc

o fAfer 31 UAiferd @l 981 a9 511 |ehal ©

(1) B MSARHAES BT iy fderas # 7ot Jaed
EINY

(2) &R e # I~IASS BT A=THRor e & are

(3) VAT H ATSEIEIA BT 0TI H2/Pd2F\> T |

(4) FHSS B UICRITA TaU P FARIINT & ATef
e e dcrward NaOH & STeildl faerd # smaered

CH,CHOH.COOH, &1 &1 wifad fifad deard St fa

gauT Yo €, BRI © :

(1) araRe febeor (2) dfggemgErR

(3) ufdferrey (4) AERR

forecia Sl # TNl & Hayg H 98 HUF T

(1) for¥eea ol & g+ TR el QNI &I DIg TG

&I BT © |

el QY fhveelTd Sl & g9 & HHBR <d &

el QY Udh W9 99 QY B |

fR &3l & gellssl d Hhabdl QY YR ST |

@)
(3)
)
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136. The position vector of a particle R as a function of time | 136.

is given by: |
R = 4sin(2nt)i + 4cos(2nt) ]. |

Where Risin meters, tis secondsand i and | denote|
unit vectors along x-and y-directions, respectively.
Which one of the following statements is wrong for the
motion of particle?

2
. . .V
Magnitude of acceleration vector is R where v

(1)

Magpnitude of the velocity of particle is 8 meter/second

|
|
is the velocity of particle I
path of the particle is a circle of radius 4 meter. I

(2)
3)
(4) Acceleration vector is along - R |

The energy of the em waves is of the oder of 15 ke V.| 137.
To which part of the spectrum does it belong? |

(1) Infra-redrays (2) Ultraviolet rays |
(3) v-rays (4) X-ray |
A beam of light consisting of red, green and blue colours | 138.
is incident on aright angled prism. The refractive index |
of the material of the prism for the above red, green|

and blue wavelengths are 1.39, 1.44 and 1.47,]|
respectively.

137.

138.

Blue ——10
Green —>——
Red —>—

wa

The prism will:
(1)
(2)
3)

separate all the three colours from one another
not separate the three colours at all

separate the red colour part from the green and
blue colours

separate the blue coloure part from the red and
green colours |
Two particles A and B, move with constant velocities | 139,

v,and Vv, . At the initial moment their position vector |

|

|

|

|

|

|

|

) |
45 |
|

|

|

|

|

|

|

|

)

139.

are r,and T, respectively. The condition for particles|
A and B for their collision is:

|

) 7050 @Rk =ExT,
Lo -6 _ V-V, |
@) L-L=Vv,-V, (4) -t [,- v |

2 1

THI B B B WU H [H BT BT Ry IR =
AT B

R = 4sin(2nt)i + 4cos(2nt) |

Stet R#lex % qor t Apve # ¥ 3R 1 921 | e x-qer
y-faemsit & ergfeer vaie Afder 2 | 39 For @ 1A & ford
fr=ifpd & W BI9RAT B WE! 8T 87

(1) TRU—AfEe BT gRHATT, %%‘,aﬁvwzﬁraw%‘l
(2) BT & AT BT YRATT 8 m/s T |
(3) BT BT 9 4 Hex 351 &1 99 B |

(4) @RU-wfT- R & argfaer 2
B faga gear T o Hoif & Bife 15keV. & | T8

Wdeq & g ¥R B A 27
(1) oraRad fof (2) WRTATY fob <ot
(3) T fawoi (4) vaa—fawot

T YbTeT [BROTYS, oI, BN AT =iel T A a1 & | I8
fovorgs foeft wwarof sy wx emufoa &rar @
(emg <Red) fUsA & ugred &I MuacHI® | ofdl, 8, @ At
A o ford A 1.39, 1.44 A1 1.47 € | a1 —

A

e —>—0
W+
W+

I8 firon

(1) fr=orgst & < <1 BT T SR ¥ YAH B ST |

(2) TN BT g W gAS TE BT

(3) THROTYST & AT [T ANT DI 3T T H YD B
< |

(4) THROTYST & Iel T 9T BT = [T A YIdh
PR

Q1 BT AT BReR I shoer: v, @7 v, 9 Y 9 @

2 | IR &1 § I Afe HAL: Foqem §, g1 an A
AT B Hoce 8 & ford ufdey 8 & -

M L.v=5.Y (@) HxVv, =5xV,
. - - F1_—2 _ \72_\71
@ r-L=v-v, (4 -t [V,- v
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140. At the first minimum adjacent to the central maximum | 140. Uohd 3R fagd= ded & < Sfas & frdcad! uom

141.

142

143.

144.

145.

of a single-slit diffraction pattern, the phase difference
between the Huygen’s wavelet from the edge of the slit
and the wavelet from the midpoint of the slit is :

(1) gradian (2) nradian

3) = radi 4) = radi
3 g radian ()4ra|an

A proton and an alpha particle both enter a region of
uniform magnetic field B, moving at right angles to field
B. If the radius of circular orbits for both the particles is |
equal and the kinetic energy acquired by proton is 1|
MeV the energy acquired by the alpha particle will b: |

(1) 0.5MeV 2) 1.5MeV |
|

3) 1MeV (4) 4MeV

Acircuit contains an ammeter, a batter of 30 Vand a |
resistance 40.8 ohm all connected in series. If the|
ammeter has a coil of resistance 480 ohm and a shunt |
of 20 ohm, the reading in the ammeter will be:

(1) 0.25A 2 2A I
3 1A 4) 0.5A |
The value of coefficient of volume expansion of glycerin |
is5 x 10* K™!. The fractional change in the density of I
glycerin for a rise of 40°C in its temperature, is: |
(1) 0.020 (2) 0.025 |
(3) 0.010 4) 0.015 I

An ideal gas is compressed to half its initial volume by |
measns of several processes. Which of the process
results in the maximum work done on the gas?

™
3)

A series R-C circuit is connected to an alternating
voltage source. Consider two situation:

(2)
(b)

Isobaric (2) Isochoric

Isothermal (4) Adiabatic

When capacitor is air filled.
When capacitor is mica filled.

capacitor is V then :
V,>V, 2 i,>iy

@) V,<V,

|

|

|

|

|

|

|

|

|

Current through resistor is i and voltage across I
|

|

Va = Vb I
|

|

|

141.

142

143.

144.

145.

fftTe w, B & & AR Tur Sue 75y fodg | 9=
BEA—RATHIRI & 19 TR BT ©

() 5 R 2) n3ReE
3) gir%a:r @) %ir%m

T U1 TAT U Uehl vl fhdl Uah FAM g e
B® WY H UdY HRA © | SHD! A DI fIIM & BB
T © | Ife IFT B0il & fofg g werrsi o B
3O H GRTER B | SR WgH gIRT 31RTd @7 718 TTfrst Soott
1 MeV & o Yol BT gIRT 31ffd ot 8T

(1) 0.5MeV 2) 1.5MeV
3) 1MeV 4) 4MeV

febeft aRRuer &, 30 V bl Ueb 9l 40.8 31 T Yeb TR ol
T TR W1 S1f 69 A IS © | AT THIeR @1 sl
TRORIET 480 31 2 3R U IS e &7 R 20 3719 ®
ql, THiex &1 Urgdid 8T—

(1) 0.25A 2) 2A

@) 1A (4) 0.5A

e &1 e yaR ere 5 x 107 K 2| @@
ReeE & dmushd d 40°C gfg PR TR S °cd H
37ifre gkt 8 |

(1) 0.020 (2) 0.025

(3) 0.010 (4) 0.015

fep) arrel 19 T TS U §RT s IR ATITT &
3T 3TIa e |difed favar srar 2 | ford wshe i W)
MBI B BHRAT BIIT?

(1) e # (2) FHRmIdT® |

(3) T H @) wg™ ¥

Teh 07 R-C uRue fhdl gearad| dieedl & Wi 3 ISl
21 <1 Rerfaat (a) @2 (b) R AR e

(@) 9 HETRT IR WURT T &

(b) <79, FeTR= ATgHT HaRd 2 |
9 URuY 3§ UfRES ¥ yarsd fIgd aRT & qr [

P AR & 9 faawrar vE
1) V,>V, @ i, >,
(3) Va=Vb 4) Va<Vb
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146. Light of wavelength 500 nm is incident on a metal with | 146. T €1 BT BRI e 2.28 eV. 7| 89 R 500 nm TR BT

147. Two metal wires of identical dimension are connected | 147.

148.

149.

150.

work function 2.28 eV. The de Broglie wavelength of|
the emitted electron is: |
(1) <2.8x10°m 2) >2.8x10°m |
(B) <2.8x10"?m @) <2.8x10"°m |

in series. If 5, and o, are the conductivities of the metal |
wires respectively, the effective conductivity of the |
combinationis : |

|

c,+0, c,+0,
(M 20,0, @ 6,0, I
|

0,0, 20,0,
O @ oo |

An automobile moves on a road with a speed of | 148.

54 km h™". The radius of its wheels is 0.45 m and the |
moment of inertia of the wheel about its axis of rotation |
is 3 kg mZ. If the vehicle is brought to rest in 15s, the |
magnitude of average torque transmitted by its brakes |
to the wheel is : |
(1) 8.58 kg m? s72 (2) 10.86 kg m? s~

(3) 2.86kgm’s?  (4) 6.66 kg m?s?2 |

A source of sound S emitting waves of frequency 100 | 149.

Hz and an observor O are located at some distance

from each other. The source is moving with a speed of |
19.4 ms™" at an angle of 60° with the source observer |
line as shown in the figure. The observor is at rest. The |
apparent frequency observod by the observer (velocity |
of sound in air 330 ms™) is: |

(1) 103Hz

(3) 97Hz
60°

|
|
(2) 106 Hz I
|
|
(4) 100Hz S e

On africtionless surface a block of mass M moving at | 150.

speed v collides elastically with another block of same |
mass M which is initially at rest. After collision the first |
block moves at an angle 6 to its initial direction and |

\%
has a speed 3 The second block’s speed after the |

collision is : I
1 3 2 S |
( ) 4V ( ) \/EV |
|
3) gv @) ?v I
|

YhT ATAfTd BIT § oY, ScANIT gaideid &1 & siiel
aRraed BT |

(1) <2.8x10°m 2) >2.8x10°m

(B) <28x10"”m  (4) <2.8x10""m

| faedR (@) & a1g & <1 aR Sl A H e B | afk
3 ARI &1 ATDAT HHY: 6, AT 6,8 @I, 37 g4 Ao
P ATele o7 BT

c,+0, c,+0,
(M 20,0, @ 6,0,
0,0, 20,0,

O oo @ e

T AR e b W F$® R 54 km h™' &) a1 & T
e 2| 399 ufeal @1 fur 0.45 m 7 SR Ui 31T &
aRa: ufgd &1 STeca 3megef 3 kg m? R | IS 9 g7 ufdy
R T ST def ST BT AF BT

(1) 8.58 kg m?s™? (2) 10.86 kg m?s™

(3) 2.86 kgm?s™? (4) 6.66 kg m?s™?

100 Hz 3MgRT B1 gaf+ I Rl 3T Yo eafl T S
T U YeTeh O, Uoh TR I 8 X IR Reyd € | ¥ ea
Gd, 19.4 ms™' & ATA A TA ET € | SAD derT Dl
e, Ea aom Yerd 3 Rerfort & e arell aRerr
¥ 60° BT BT g1 & (3MNE IRI) Ife, UeTdh *a+h
Rerfd & & w1 Y5a1 7| A1, Yed g1 G TS & B
ATAT STTgfRT (24T ® &afy &7 a7 330 ms™") B -

(1) 103Hz

2) 106 Hz

(3) 97Hz
60°

(4) 100Hz S e

BT ENUE ys W v ATel I Ferd g3 M 9 31 U
sl ST g M & farmaTaen § Rerd U 3 sdild

o \"
Y THIAT B | TIFPR B U USAl sclich — dTol 3 39T

3
URMAP TR DI M A 6 DIV R T Tl 8 | Al ST
@ LI IR &Ah B ATel BT |
3 3
(1 ZV 2 \/EV
3 gv @) ?v
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ends of a rigid of length L, and negligible mass. The|
rod is to be set rotating about an axis perpendicular to |
it. The position of point P on this rod through which the |
axis should pass so that the work required to set the |
rod rotating with angular velocity o, is minimum, is given |
by :

|

: |

N, |

: |

: |

m, I—E P m, |
X (L) :

i |

' |

|

(1 x—ﬂL (2)X_&L |
m, m, |

m,L m,L I

3) X= m,+m, “) X= m,+m, |

152. A ball is thrown vertically downwards from a height of | 152.

20 mwith an initial velocity v,,. It collides with the ground
loses 50 percent of its energy in collision and rebounds |
to the same height. The initial velocity v, is :

(Take g = 10 ms™)

(1) 20ms™

|
|
|
2) 28 ms™ I
|

(3) 10ms™ @) 14 ms™

153. A nucleus of uranium decays at rest into nuclei of | 153.

thorium and helium. Then : I

(1) The helium nucleus has less momentum than the |
thorium nucleus. |

(2) The helium nucleus has more momentum than the |
thorium nucleus. |

(8) The helium nucleus has less kinetic energy than |
the thorium nucleus.

(4) The helium nucleus has more kinetic energy than
the thorium nucleus.

151. Point masses m, and m, are placed at the opposite: 151. {50 3¢ B B! o8 L B 3R IHHT 591 97 & |

3 ql fauRid RRT OR A m, T m, 59 & o fawg
fie W T | 39 B Bl U WY D oA A&l b
ORe: goIF AR 8, S B8 UR Rerd {6l favg P 4 gaw
oIl © (3R <R3) | o favg P a1 @8 Reafey e ford
B8 Bl DI 9T 0, T BRME B o sfaedsd i

ATH BT, 2 |

N
m, |—§P m,
A (L—x)
my M,
(1 X_mzl‘ 2 x= m1L
m,L m,L
@) x= m, +m, (4) x= m, +m,

T el 20 m B Hars A URMID 97 v, ERT A
(FeafeR) A @I R BT ST 2| Tg Al i — T A
THRICT B, 3 <dhR 3 3BT 50 Ufcrerd il &1 81 ST
B0 | TSI B 918 T8 el S AR dH S8 STl
213 g=10ms™2 a1 Ml BT IRMRIDH T 8

(1) 20ms™

(2) 28 ms™
(3) 10ms™

faRTHTaRRIT # IR BT e A1 ReM qem ifer s &
ATi¥epi H &TRT BiaT & | A

(1) Bfcrm—Tife B 9T NRIF—TFIEHT I FHH BIar 2 |

2) Biferr—fie &1 Ha, MRTF—E J A Bl & |

(3) Eifersm AW &I TfasT Sott, MRTA—MAS & HH
Il & |

(4) Sform—ieE BT TR SHotl ARIF—AMS 3 31Sd
Il & |

@) 14 ms™
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154.

155.

156.

157.

158.

An electron moves on a straight line path XY as shown. | 154. TP Soideld IRl NG 9, XY TR A9 8 | U ag—\c-,?fﬁ
The abcd is a coil adjacent to the path of electron. | abcd 59 TOTET & AR & Pideadt ¥ (v 2R) | o
What will be the direction of current if any, induced in | o sl 1 SR N7 (A B & ) Y ferem @ B2

the coil.

|
|
a | a
|
b d | b d
|
|
c | N G
X T T T Ty | X " \4
electron | EGEME]
(1) adcb I (1) adcb férem 3|
(2) The current will reverse its direction as the electron (2) TG D Bl T U F et S W 4RI
goes past the coil | fem faudia &1 SRty |
(3) No current induced | (3) o7 URT & B Y|
(4) abcd | (4) abcd fe=m |
A pa_rticle is exelcutitr_mg a simplz harn_10nic moltior_1t. I’Fs | 155. Rl 3madt T BRa g B BT BT ARADBAH @RT o FAT
maximum acceleration is o and maximum velocity is : . .
B. Then its time period of vibration will be : | ST T | L, FHD DI PT AP S
2 27 i§
a p* 2np B 1 o 2) B 3 —  (4) >
Mm@ @ @ s @y O B

Two slits in Youngs experiment have widths in the ratio ! 156. I o et fEfery o # <1 iRl @1 <drergat 4 STgUIC
1:25. The ratio of intensity at the maximum and minima 1:25 8| @ Afdexe Yed # Sfas qen s

max Imax
in the interference pattern, T is: IS IERICICE 3rurd, I—gﬁTrr :
121 49 121 49
4 9 4 9
3) = 4) — — —
@ 9 @ 4 | @ g @

If potential (in volts) in a region is expressed as | 157. I forr & 1 farg (diee H) BT V(X, y, 2) = 6 xy —y +2yz, A

V(x, Y, z) =6 xy —y + 2yz, the electric field (in N/C) at | ,
point (1,1, 0)is : | fAfée fpar s fisg (1,1, 0) R g & (NICH) &

(1) —~(6i+5]+2k) (2) —(2i+3]+k) I (1) —(6i+5]+2k) (2) —(2i+3]+k)
@) -Bi+9i+k) (@ —(31+5]+3k) [ @ 6i+9i+k)  (4) (3i+5]+3K)
A parallel plate air capacitor has capacity ‘C’ distance : 158. TP TR ©Ic dR] AHTRS Bl T Ufghrall & ard Bl g2l
of separation between plates is ‘d’ and potential ‘d’ derr s e faaraR V' 2 | afe 3 GenRa & enfRRar

difference ‘V’ is applied between the plates. Force of | ‘C' Al sad uRBRT B dra B e BN

attraction between the plates of the parallel plate air

capacitor is : | CV? CcVv?
cV? cV? I D 2 R
(1) )
2d d | 5 c2\/2 . C2\2
% % O e @ o
3) SF 4) o |
|
|
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159. A plank with a box on it at one end is gradually raised | 159. &l Tl & T RN R U 991 ¥T 2 | O] & 39 R

160.

161.

162.

about the other end. As the angle of inclination with |
the horizontal reaches 30° the box starts to slip and |
slides 4.0 m down the plank in 4.0s. The coefficients |
of static and kinetic friction between the box and the |
plank will be, respectively : |

mg

(1) 0.6and 0.5 (2) 0.5and 0.6

|
|
|
|
|
|
|
|
(3) 0.4and 0.3 (4) 0.6and 0.6 I
In the spectrum of hydrogen, the ratio of the Iongest|
wavelength in the Lyman series to the Iongest|
wavelength in the Balmer series is |

|

|

|

|

|

27
M @ T
4
® — @ 3

In the given figure, a diode D is connected to an external |
resistance R = 100 Q and an e.m.f. of 3.5 V. If the|
barrier potential developed across the diode is 0.5V,

the current in the circuit will be:

|

|

D |

|

R |

|

|

|

] |

3.5V |

(1) 40mA (2) 20mA |
(3) 35mA (4) 30mA |

A satellite S is moving in an elliptical orbit around the |
earth. The mass of the satellite is very small compared
to the mass of the earth. Then,

(1) the total mechanical energy of S varies periodically |
with time. |
the linear momentum of S remains constantin |
magnitude. |
the acceleration of S is always directed towards |
the centre of the earth. |
the angular momentum of S about the centre of |
the earth changes in direction, but its magnitude
remains constant. I

160.

161.

162.

Bl TR—IR FIR P 3R ST 9I1aT & | Tt B ot o
30° I 9919 TR g A1 DI 3R fBAe=T UR™T Har
23R 4.0s% 4.0m A TT HR T B | A, I AT T
% dra W AT i T I[OTIh] BT HHLT: AH BT

mg
0
(1) 0.6T210.5 (2) 0.5 0.6
(3) 0.47er 0.3 (4) 0.6 0.6

EISSIo & WaeH H, ATgA- Il aTR SIfor & <read
TTQEA! T SUTd BT & |

27
M 3 @ 5
4
® @ 3

T8t uRuYr # U S/rs D & U& d9r8d UfoRier R = 100 Q
I 3.5V E TH.U% Pl deI I SireT T 2 | e srrs #
(@I &3l @7 A B SIRUR S RifSrT fava 0.5V & ar
gRuer & ¢RT BIN:

D
R
il
3.5V
(1) 40 mA 2) 20mA
(3) 35mA (4) 30 mA

T IuUE S STEG Pef H gedl b1 uRepHl H PR IET 2 |
SUYE BT THHH Yol & SqH bl il H 98 B4 © |
ar

™

S @1 Bl FifFHb HoIl B A AHY D AT AT
U ¥ gRafda gl & 2|

S & XER HIT BT RN (A7) ReR Y&

S &I @R Had Yol & = DI AR AT

el & @ & URT: S Il T Y e #
R BIT & &, fdbg ST TRHTOT A & 6 |
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_ . . . | s 2 R
163. A force F = al + 3] + 6k is acting at a point|163. f<fl fa=g = 2i1- 6] - 12k 49X TH 9o

164. A potentiometer wire of length L and a resistance rare | 164.

165.

166.

167.

168.

f=2i-6] — 12k . The value of o for which angular|
momentum about origin is conserved is:

1) 2

(3 1 4 -1

|

|

(2) zero |
|

|

|

connected in series with a battery of e.m.f. E; and a
resistance r,. An unknown e.m.f. E is balanced at a |
length | of the potentiometer wire. The e.m.f. E will be |
givenby: |
E,r

|
|
LE,r LE,r |
3) (r+r)l “) Ir, |

|
4.0 g of a gas occupies 22.4 litres at NTP. The specific |

heat capacity of the gas at constant volume is|
5.0JK™"mol™". IF the speed of sound in this gas at NTP |
is 952 ms™, then the heat capacity at constant|
pressure is

(1) 7.5JK " mol™ 2) 7.0JK" mol™

|
(Take gas constant R = 8.3 JK™' mol™) |
|
|
(3) 8.5JK" mol™ 4) 8.0 JK" mol™ |

Two stones of masses m and 2 m are whirled in!| 166.

r
horizontal circles the heavier one in radius > and the |

lighter one in radius r. The tangential speed of Iighter|
stone is n times that of the value of heavier stone when

they experience same centripetal forces. The value of |
nis: |
(1) 3
3) 1

@ 4 |
@) 2 |

Aremote - sensing satellite of earth revolvesin a circular | 167.

orbit at a height of 0.25 x 108 m above the surface of
earth. If earth’s radius is 6.38 x 10°m and g = 9.8 ms™, |
then the orbital speed of the satellite is : |
(1) 8.56 kms™ 2) 9.13kms™ |
(3) 6.67kms™ @) 7.76 km s~ |

A string is stretched between fixed points separated I 168.

by 75.0 cm. Itis observed to have resonant frequencies
of 420 Hz and 315 Hz. There are no other resonan’[|
frequencies between these two. The lowest resonant
frequency for this string is :

(1) 205Hz 2) 10.5Hz |

(3) 105Hz (4) 155Hz |

F=oi+3]+6Kker<er | drod o 7 & Ry gat
farg & gRa: o Faw A=MET &

(1) 2 @ I3

3) 1 4) -1

L o TS @ U@ fawaardl R deim U UfoRmedl r 1 oft
%A A E 3.UA.UB B U 9l a1 G r, 4 ST 11
2 39 fawaardt Y | rTE W Y oreTa § T U E B
ford dige fa=g ured grar € < E @l A/ &

Er | E,l
(1) (r+r)'L @ T
LE,r LE,r
3) (r+r) “) Ir,

165. AT A9 TAT T6 W fod 9 & 4.0 g ST\ = BT

I 22.4 forer 2 | ReR Imaas R gaa fafdre sor
gTRar 5.0JK "mol™' 2 | afe 39 9 & 9= dra 9 919
TR eafy BT 97 952 ms™' & @ 59 A Pl Rer 79 fafdre
ST TRAT B |

(Take gas constant R = 8.3 JK'mol™)
(1) 7.5JK" mol™ ) 7.0JK" mol™
(3) 8.5JK"' mol™ 4) 8.0 JK" mol™

aﬁwmzﬁwmmHWZm%,ﬂﬁq’mﬁéﬁw

& AT B TR Bl r 35T & garebR Alferst veli # garan
ST € | 519 ¥ YR Vb A AW b=1g ge1 AT Bl
2 79 B TR P NI T 9N TR & Y@ 9 &1 n
TAT 2| n B A &

1 3 ) 4

3) 1 4) 2

T GoR G4l SUTE Gl & g W 0.25 x 10°m S
W JATHR HeT § gl BT adeh) o &1 & A gy
B 31 6.38 x 10°m 2 3R g = 9.8 ms ™R a1 SYUE &l
Pl Aret Bhf:

(1) 8.56 kms™ 2) 9.13kms™

(3) 6.67kms™ @) 7.76 km s~

T SR &1 Rer favgall @ drar Ra<h 7| 31 fagell & =
BT gY 75.0 cm B | 39 SR &I &I 3SR 420 Hz
T 315 Hz 8 | 31 QI o 419 § 1Y 37F TS Mgy
TE1 21 1 39 SN & o =gaH 31 MR B |

(1) 205Hz 2) 10.5Hz

(3) 105Hz (4) 155Hz
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169. The coefficient of performance ofarefrigeratorisSifthe| 169. < weriad (XfhoRex) &1 fAwres T 52| afe

170.

171.

172.

173.

174.

temperature inside freezer is —20°C, is temperature of
the surroundings to which it rejects heat is

(1) 41°C @) 11°C I
(3) 21°C (4) 31°C |

Water rises to a height ‘h’ in capillary tube. If the length | 170.

of capaillary tube above the surface of water is made |
less than ‘h’ then : |

(1) water rises upto the top of capillary tube and stays |
there without overflowing |
(2) water rises upto a point a little below the top and |
stays there |
(3) water does not rise at all. |
(4) Water rises upto the tip of capillary tube and then |
starts overflowing like fountain.

Two vessels separately contain two ideal gases A and I 171.

B at the same temperature the pressure of A being

twice that of B. Under such conditions, the density of|
Aisfound to be 1.5 times the density of B. The ratio of

molecular weight of Aand B is :

1
M 5 @2 ® 5 @3
Two Young’s modulus of steel is twice that of brass. |
Two wires of same length and of same area of cross |
section, one of steel and another of brass are
suspended from the same roof. If we want the Iower|
ends of the wires to be at the same level, then the
weights added to the steel and brass wires must be in
the ratio of :

M 2:1 @) 4:1

3) 1:1 4 1:2

The input signal given to a CE amplifier having a voltage

|
3 2 |
|

T
gain of 150 is V, = 2 cos [1 St + gj . The corresponding

output signal will be :

|
|
|
|
|
|
|
|
|
|
2n 5n
(1) 75 cos[15t+3j (2) 2 cos [15”3) I
|
|

47 T
(3) 300 cos [15t+3j (4) 300 cos [15t+§j

In an astronomical telescope in normal adjustment a |
straight black line of lenght L is drawn on inside part of |
objective lens. The eye-piece forms a real image of|
this line. The length of thisimage is 1. The magnification
of the telescope is :

|

L L+1
(1)T_1 @ [ I
L L |
® 7 (4) TH |

172.

173.

174.

wioR (i) &1 Widd a9 —20°C © ar wiided & qrex

IRT AR T8l T8 1T d18R Bl & BT YA B

(1) 41°C 2) 11°C

(3) 21°C 4) 31°C

fHdY BRIBT § St ‘W SaTs dh dedr 2| Ife STl B

g I HUR BIRDT B o TS ‘h’' F HH & al

(1) ST R@ B FI RR Th 6 Sar & a8l v
RET & 918} el 9&dT |

(2) ST BRBT & HU RN T HB -1 TF dgdT 2 3R
8 g7 & & |

(3) T HRIwT # Bl e |

@) T BRIBT & SR R TF Tedh: AR & wU d
IIER g8 T 2 |

U FHIE IO OR &1 U | 3 U H ameel 39 Ader

A H afesl M BHRI 2| 19 A®T 3@ 99 B 1@

HT &I AT © | 37 AT & =i {9 A ST v 19 B

& ©cd A 1.5 AT URIT STl & 1 AT B & STUMRI b1

3TUTd BINTT :

3 1 2
M 7 © 3 (4) 3
el BT W AR 0T, Wt | T AT 2| T &1
SIS AT U 81 IR BT B &l AR, Tb el BT el
T Uil BT B TH &1 B F dAcHIAT Il © | AT IR
ACH W I IRI & frerel RIY Us &1 a1 W 2 a i
o7 fidel & IR ¥ TIeh MRY BT IguTd 8! T
1) 2:1 2) 4:1
@) 1:1 @) 1:2
f CE (SWafTs Scavid) Uaeid &1 diecar @fer 150

(2) 2

| 3T fae Rie (Hepd), V, = 2 cos [15”%).%\2@
BIT:

< o

T T e

2n 5n
(1) 75 cos[15t+3j (2) 2 cos [15”3)

47 T
(3) 300 cos [15t+3j (4) 300 cos [15t+§j

WET FAESH B Refd 4, {6l @ei Revie &
JAGeIH o & HIaT W WR L 18 & U Plell Wl
g7 R T 7 | ST 39 WA @1 BT aR<fad gfafe
T & | Ufifd &1 orarg [ 1 qRaID &I JATqE o

L L+I

(1) 71 @ [

® @ =+

1
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175.

176.

177.

178.

179.

The heart of man pumps 5 litres of through the arteries| 175. f& arfdd &1 g<y gafal ¥ 150 mm URE €6 W

per minute at a pressure of 150 mm of mercury. If the
density of mercury be 13.6 x10% kg/m?® and|
g = 10m/s? then the power of heart in watt is : |
(1) 2.35 2) 3.0 |
(3) 1.50 4) 1.70 :

If dimensions of critical velocity v of a liquid flowing | 176.

through a tube are expressed as [n*p*r"], where]|
n, p and r are the coefficient of viscosity of liquid, density |
of liquid and radius of the tube respectively, then the
values of x, y and z are given by :

|
1 -1,-1,1 @ -1,-1,-1 |
3) 1,11 @) 1, -1, -1 |

A photoelectric surface is illuminated successively by | 177.

A
monochromatic light of wavelength A and 5 If the |

maximum kinetic energy of the emitted photoelectrons
in the second case is 3 times that in the first case, the
work function of the surface of the material is :

(h = Planck’s constant, c = speed of light)

|
|
|
2he |
|
|
|
|

h
M = @ =
hc hc
@) 3 @ 5

The cylindrical tube of a spray pump has radius, R,
one end of which has n fine holes, each of radiusr. If|
the speed of the liquid in the tube is V, the speed of the
ejection of the liquid through the holesiis :

VR? VR?
1 2) —5
) nr? @) n°r?
V?R VR?
3 4
@ @
- ~ . - — (Dt ~
If vectors A =cos ot i +sinwt ] and B=cos > i

|
|
|
|
|
|
|
|
t |
+sin % i are functions of time, then the value of t at I
which they are orthogonal to each other is |
|
|
|
|
|
|
|
|

(1) t= 2)t=

e la

T
20

3) t=0 @) t=

4o

178.

179.

5 forex 3ad ufa fide o &_ar g | Ife uRE &1 g9
13.6 x10° kg/m> @1 g = 10m/s?2 | A1 g3 B Afdd a1
H &

(1) 235 2) 3.0

(3) 1.50 @) 1.70

fep=il <iforepT 1 w8 dTel a @ ifeied o9 v BT faHwT B
*p’r,31 fHifese frar Sirar & 18t v, p I r e <9
T T O =9 BT TIcd AT AAAbT B 3T & |
X, y TT Z BT HHIT: A B |

(1) —1,-1,1 2) -1,-1, -1
@ 1,11 @) 1, -1, -1

ﬁﬂ%Wﬁgﬁg@ﬁW:xw%Wﬁ%ﬁZ%wﬁ

TebTel W YA fhar SIrer € | afe Scafld yebrer fagd
SAEAT BT BT TAST ST BT A S <27 H Ul
ST 3 2 AT 59 T & yard &1 BRI He o

(h = i RRTH ¢ = UHTT BT 97T)

hc 2hc
(1 - @ ——
hc hc
@) 3 @) 5

5l |1 o &) JaTER Tell B 5w R2 | 39 e &
RN R nged fog 2, RN o o Broar re | afe el
H%d @ 9 Ve Al g9 el 9 a6 o gy &4
@I F1el BN

VR? VR?
1 2
() nr2 @) n°r?
VR VR?
4 -
®) nr ) n’r?
afy afgeTA = cos ot | + sin ot | dT Afer

_ t . t-
B=cos%i + sin %JWZ%W%‘,HH%‘G%HW

T BN 3 R A Aty ReR ofaapifor grft

t= 2)t=

T
20

(1)

3) t=0
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having 50 turns of wire is suspended vertically in a 0.2 Weber/m?@ Tds S ridbidl &5 7 $HEarR e
uniform magnetic field of strength 0.2 Weber/m> The | AT 2 | HSell H 2A faefdeRT yarfd 1 j&1 & | IS B,
coil carries a current of 2A. If the plane of the coil is | D &3 ¥ 30° BIVT q9KH 8 AT 375 b I & oIy
inclined at an angle of 30° with the direction of the field, | JATILIH FeT JATEOT BT A BT
the torque required to keep the cail in stable equilibrium | (1) 0.20Nm (2) 0.24Nm
will be :

| (3) 0.12Nm (4) 0.15Nm
(1) 0.20Nm (2) 0.24Nm |
(3) 0.12Nm (4) 0.15Nm :

d b d
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